7/10/24, 7:35 PM

PREVIEW QUESTION BANK

Module Name : NCET - BEN
Exam Date : 10-Jul-2024 Batch : 14:00-17:00

Sr. | Client Question

No.

1D

Objective Question

801 801

Which of the following is the Lower Palaeolithic stone tool ?
(1) Blade

(2) Handaxe

(3) Cleaver

(4) Microlith

Al:1

A2:2

A3:3

A4 :4

Objective Question

802 1802

Blade tools are found in:

(1) Lower Palaeolithic period
(2) Middle Palaeolithic period
(3)  Upper Palaeolithic period
(4) Neolithic period

Al:1

A2:2

A3:3

Ad 4

Objective Question

803 1803

Put the following chronology, from recent to oldest :
(A) Archaeozoic

(B) Cenozoic

(C) Palaeozoic

(D) Mesozoic

(E) Proterozoic

Choose the correct answer from the options given below :

(1) (B), (D) (), (E), (&)
(2 (&), (B), (©), (D) (E)
(3) (A (B), ©). (D) (B)
@) (A) (©), (B), D) (E)
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Al:1
A2:2
A3:3
Ad:4

Objective Question

804 804 4.0 1.00
Which of the following is true for Celts ?

(A) These were Neolithic tools

(B) Were manufactured by Cro-magnon

(O Grinding and polishing technique was used

(D) Are found only in Africa

Choose the correct answer from the options given below :
(1) (A), (C) and (D) only

(2) (A) and (C) only

(3) (B) and (D) only

(4)  (A), (B) and (D) only

Al:1
A2:2
A3:3
Ad:4

Objective Question
805 /805 4.01.00
Domestication of plants and animals is a characteristic feature of which of the following periods ?

(1) Upper Palaeolithic
(2) Neolithic

(3) Mesolithic

(4) Middle Palaeolithic
Al:1

A2:2

A3:3

A4:4

Objective Question
806 806 4.0/1.00
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Which of the following are characteristics of Primitive Economy ?

(A) Small economy

(B) Simple technology

(C) Geographical isolation

(D) Simple markets

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (B) and (D) only

(3) (A) and (B) only

(4) (A) and (D) only

Al:1
A2:2
A3:3
A4:4

Objective Question

807 | 807 4.0/1.00
In a simple economy, which of the following subsistence strategies are commonly employed ?

(A) Foraging

(B) Industrial Agriculture

(C) Pastoralism

(D) Terrace farming

(E) Hunting

Choose the correct answer from the options given below :
(1)  (A) (O), (D) and (E) only

(2)  (A), (B), (C), (D) and (E)

(3)  (A), (B), (C) and (D) only

4) (A), (B), (D) and (E) only

Al:1
A2:2
A3:3
Ad:4

Objective Question
808 808 4.0 1.00
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Arrange the following sequentially in the Human existence :

(A) Man

(B) Family
(©) Marriage
(D) Society

Choose the correct answer from the options given below :

1 (&) D) (B), ©)
2 (&), ®),(©), D

)
3) A, ©, (B) (D)
(4) (B), (D), (©), (A)
Al:1
A2:2

A3:3

Ad:4

Objective Question

809 809

Smallest unit of society is :
(1) Family

(2) Tribe

(3) Caste

(4) Clan

Al:1

A2:2

A3:3

Ad:4

Objective Question

810 810

In a family, Father’s Sister’s children are :
) Parallel cousins

(2) Third cousins
) Second cousins
)} Cross cousins

Al:1l

A2:2

A3:3

A4:4

file:///D:INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html

9_Live_NCET_BEN_801-1200.html

4.01.00

4.01.00

4/168



7/10/24, 7:35 PM

Objective Question
811 811

When several sibs or clans combine to form a wider grouping, itis a :

)
(2)
()
(4)
Al:1
A2:2
A3:3

Ad -4

Objective Question
812 812

9_Live_NCET_BEN_801-1200.html

Phratry

Caste
Gotra

Moeity

Essentials functions of a family are :

(A)
(B)
©
(D)
(E)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
Al:1
A2:2
A3:3

Ad 4

Objective Question
813 | 813

In the Manipur state ethnic conflicts recently happened between :

(2
3
(4

—_—

)
)
)
)

Al:1

A2:2

A3:3

Regulating sexual reproduction

Participation in religious activities

Providing education to the children
Participation in political activities

Upbringing of children and emotional support

(A) and (B) only
(A) and (C) only
(A) and (D) only
(A) and (E) only

Kuki and Meitei
Kuki and Lepcha
Meitel and Bhutia
Naga and Bodo
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A4 4

Objective Question

814 [ 814 4.0/1.00
Social scientist who studied Apatani tribe :
(1) C.F. Von Haimendorf
(2) B.M. Das
(3) BS. Guha
(4) S.5. Sarkar
Al:1
A2:2
A3:3
A4:4
Objective Question
815 815 4.0 1.00
Which state of North East India is the home to the Apatanis ?
(1) Meghalaya
(2) Arunachal Pradesh
(3) Tripura
(4) Mizoram
Al:1
A2:2
A3:3
Ad:4
Objective Question
816 816 4.01.00
The Seng Khasi Movement took place in which state of North East India ?
(1) Tripura
(2) Mizoram
(3) Arunachal Pradesh
(4) Meghalaya
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0/1.00

817 817
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Man is :

(1) Herbivorous

(2) Carnivorous

(3) Omnivorous

(4) Detrivorous

Al:1

A2:2

A3:3

Ad 4

Objective Question

818 818 4.0 1.00
Example for Herbivorous animal is :
(1) Man
(2) Cow
(3) Lion

(4) Earthworm
Al:1
A2:2
A3:3
Ad:4

Objective Question
819 819 4.01.00

A distinctive way of life of an organism acquired by the interaction of both biotic and abiotic
elements of the organism’s environment is known as :

(1) Econiche

(2) Ecosystem

(3) Biome

(4) Biosphere

Al:1
A2:2
A3:3
Ad:4

Objective Question
820 820 4.0/1.00
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Match List - I with List - IL.

List - I List - II
Concept / Movements Person
(A) Ecology ()  Sundarlal Bahuguna
(B) Cultural Ecology (II) Harold Conklin
(C) Chipko Movement (III) Julian Steward
(D) Ethno-ecology (IV) Ernst Haeckel

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(IL), (O)~(D), (D)D)
(2)  (A)-(D), (B)-(IT), (C)-(1I), (D)-(IV)

) )
(3)  (A)-(1D), (B)-(V), (O)-(1), (D)-(II)
(4) (A, (B)-(1), (O)-(11), (D)-(V)

Al:1
A2:2
A3:3

Ad:4

Objective Question

821 821

IGER ] @51?{?3%1 =4 #e (false fruits) 7
(A) Fld

(B) WUl

(C) @CHsT

(D) o AWM=

(E) <prgg st

afefs fRfoef s wAlde Tl @ fm e
(1) =EF (A) @R (O

(2) wyma (B) 9= (D)

(@) wgE (C), (D) 9=k (B)

(4) ©gma (A), (©) &= (E)

Al:1

A2:2

A3:3

A4 :4

Objective Question

822 1822
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I FRITECR ToNeBR 419 TIHF AT @t AGS |
(A) R (Bagging)

(B) RIS, STeLe Afee gew

(C) oIS AZ 29T & e =1

(D) TR

(E) e =pifai

fnferfes fRgfoef (it wlde Teafs @ fm ¢
1) (A, (©), (D), (B), (E)

2 (B), Q) (A), D) (E)

3) (D) A), (©), (B) (E)

(4) (A), (©), (B). (E), (D)

Al: 1l
A2:2
A3:3
Ad:4

Objective Question
823 823

PR SIS A ST 2lf R, =i a1 e swidm =irieiem a1 sfire swqrs
HNTE TEAR ToAILE X A0F G AT TG A STl S STeE Felw 26 Y 0 |
X ERRY (F IS T 8

X' Y'

() | =fidieeetem | =i
(2) | =iffermmafem | =nsGra=cm
(3) | et b eRr
(4) A1 Eb e ik

Al:1
A2:2
A3:3
Ad:4

Objective Question

824 1824
5a (PR SRR (2O e ¢
(1) =R SCETa (it AR <=1 |
(2) hpL G R N el e =1 |
(3) =9 (AF CO, 9% (Ao® i (F AR (e |
(4) R s B And 2w = |
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Al:1

A2:2
A3:3
A4:4

Objective Question

825 1825 4.0 1.00
A (e ol Flaw RIS Amfe Fire Al e
(1) el
(2) o
(3) (EmiEDE o
(4) GReFCEEIRER
Al:1
A2:2
A3:3
A4:4
Objective Question
826 | 826 _ 4.0 1.00
e it fgfe Sramd w1 =7 -
e (1) : =Ere T %4 29 (& @4 17 FWite SR SrwEhm @ siEers e Fiie o zas)
f=gfe () : MTP 97 g9 T el SRl s CEErcalsrela g9 &1 |
Toiraa fRgfoated S edien 0% Tea o 4 ¢
1) R ) o =fe () wor AT
2 Rl (1) o 3fe (1) 161 go )
@) e (1) #fow, e fRgfe 1) v
@ e (1) v, e fgfe () o=
Al:1
A2:2
A3:3
Ad:4
Objective Question
827 827 4.0/1.00
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s vt e Tram o =7 ¢-

f@=fe (1) : IwHaEen = s, w@e @R AREREEE @ Thte el TiE @ |
e (1) : SpreEr=igkes, Db ARGTw AT 755 3 |

Tt RYfoarad SIS e 0% Tad 15 <59 ¢

(1) e (1) 9w fgfe (1) woR o |

2 Tefe (1) «x f3fe (1) 1oR g=1

@) e (1) 7, e fRgfe @) g=)

@ Refe 1) =, foe fgfe () 7|
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Al:1

A2:2

A3:3

A4:4

Objective Question

828 1828

I AEd (EITITEns %A 11 ¢S e HBB fom @@ sifife 21 Siemeam o= O (oiffe *or woEes
2l 3, (2 A FERS @6l a8 S g
(1) =® @ (P o) SR
(2) o - e
(3) B - AR
(4) fasnfeferm

Al:1

A2:2

A3:3

A4:4

Objective Question

829 829
(IS SIF TR AT T SHBRER 367 9T Yo [Kofte (aRS I& 0 viacas 64 5z Waea
TR 7
iy 7
2 14
®3)
@ 15
Al:1
A2:2
A3:3
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A4 4

Objective Question
830 830 4.0 1.00

Tl G067 e (F PR s fre Reeiial @ «Iwhe SepiRel FEiem @R 2@ SRaem

s swasRine TR fers Fwiesd @ | 93 o&hers 9= = |

(1) =ReDERR
(2) Tem sl
(3) EST's

(4) PIFE™ SUEIHHH
Al:1
A2:2
A3:3
Ad:4

Objective Question
831 831 4.0 1.00

E. Coli (F (FETIE MZGIee @7 B f2a 1PNH,Cl Tt Sierafs o 3 S | omer o
WNH,CL %% S0 ZI1es 5601 2 | OF (FRSTE 3% ¢ Reretas & 914 251 | ¥ 0! 2t FeT (light)
@2 A DNA S9F SofTe fF 2@ 2

(1) 322 32 /A

(2) 30 T 34 AT

(3) 63T 1 AT

(4) 62T 2 AT

Al:1

A2:2

A3:3

A4:4

Objective Question
832 832 4.0/1.00
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W feametens (HGP) DNA @I T8 &9 F-IE9 O 3959 (o7 2 3
(A) =pCEEE

(B) wiEAM

(C) %

(D) ==

(1) BEE (A) &K (O)

(2) ©gEE (A) =R (D)

(3) ©ya (B) 4= (D)

(4) =EE (C) @R (D)

Al:1
A2:2
A3:3
Ad:4

Objective Question
833 /833

4.0 1.00
WIS TlfRe ge [agfeft wre < |
(1) TPPRE SEAYE GF 9G24 (ancestry) (F WO 6 |
(2) O 932 g O SR SEE AT A 2 0 |
(B) VST NEE TR 4w G |
(4) FTPIE O B AT G0 TNt AgH FR A A |
Al:1
A2:2
A3:3
Ad:4
Objective Question
834 834 4.0//1.00
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wifer@ - sifeal I-ga 7z GEle |
sifer 1

(A) =% HHES (drifted) GeRard!

(B) ORI AR

(©) ezl

(D) IR oi7 “IfFfe e« 7 (2

e fafeef e A Sef @ fme

1 (AHD, (BRI, (O-(II), (D)-(IV)

@ (A1, (B)-(IV), (O)-), (D)-(II)

(3) (A1), (B)-(IL), (O)-(IV), (D)-(1)

4 (A)-(1D), (B)-(IV), (O)-(II), (D)-1)

P I Lol S e

Al:1

A2:2

A3:3

Ad:4

Objective Question
835 835

057 (N SRR (RN GIRPRR FEE A1 T SIE S ea (evadicated) 391 ATZ?

(1) oo
(2) e o
(@) =i e
(4)

Al: 1l
A2:2
A3:3
Ad:4

Objective Question
836 836
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wifer 11
(I) AT (Saltation)
(1) #eEeEF gdel
(1) Feres B A
(IV) T&msre =gl (T8 =)

4.0 1.00
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wife @ - SifeTsl -9 7% GFTS |
sifet 1 wifet 11
SiEl] Twizad
(A) coifes () ZORER
(B) Hi=T () PMNL e@IfRrem
(€ @FF (1) @ T 1es! =it Gierafeme e @ig
(D) LR (1V) ¥ =

e fefoef (s Alle Tel @m i@ e
1) (A, B)AID, (©-IV), (D)-(I)
(2 (A)Im), (B)-(IV), (O)-(11), (D)-(I)
(3)  (A)-(IV), (B)-(1IL), (O-(D), (D)-(IT)
4)  (A)H1V), (B)-(ILL), (O)-(11), (D)-(D)
Al:1
A2:2

A3:3

Ad:4

Objective Question
837 837

bR FR(G (ATF mRNA Beofs 28 A RNA “Afersticaer [ g Gfesisi Sesf 2

(1)
2
)
(4)
Al:1
A2:2
A3:3

A4:4

Objective Question
838 838
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tRNA

hnRNA
S5srRNA
SnRNA
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W v R S w1 = -
f@afe (1) : e o= Afaria I Al AEas @ 98 gl TEaE N 9ew @ @i AEEa
TSR S T el 3 & |

RS (11) : MRS S SRR CHE 10T AT SECFI St e e = (I Sigai =R
GBI s SrecH#e 27 |

Toltaa RYfoates S e 0% Tea Fion 4 ¢
(1) e (1) 9 fgfe () wor s |
@ & ) o= fafe ) wE g
@) ffe (1) o, fore fafe () 1)
@) Rafe (1 o=, fee Rgfe ) |

Al:1
A2:2
A3:3
A4:4

Objective Question
839 839 4.0 1.00

O Bed (FEZINE ST R A TGS T 9% T ¢
(1) FEeast

(2) e

(3) O EEE

(4) o= 3l 23R Colrel

Al:1
A2:2
A3:3
A4:4

Objective Question
840 | 840 4.01.00

e 9o e Sreme < =7 o-

=t (1) : G EfFEs a5 Srins DNA &7 e T (4 FoFFobiRe Smwmgd 7 |

fJfe (1) : areEEeR FHEET 20 DNA @7 (91 Feaiaer (1 AR e FRie @l
TP (Y e 3 <= 1|

Tolraa Rgfoatza S e 0% Tea Feion 34 ¢

(1) f&fe (1) g fgfe ) 7067 Ao

(2 fafe (1) = e () ¥ g1

(@) Teafe (1) e, fore fRgfe () =11

(@) f&fe (1) o=, e fagfe (1) A=)
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Al:1

A2:2
A3:3
A4:4

Objective Question

841 841
et fTenpiEEs (ADA) Sead Faid wide a9l i o ¢
(1) ADA, ST TeSqNiEEe: fEwe SeRHF= T TTe 2 |
(2) ADA SeRENe @l fGa (Amiel i fonegies e Seig Fr-awies a9 2 |
(3) ADA-Gq STl GEness Afeziem el @l G =1 = |
(@) sl 2fsFem 7 ADA o) Gie (@9 72 < |

Al:1
A2:2
A3:3
Ad:4

Objective Question
842 842

e i fgfe Sramd w1 =7 -

44t (1) : E. Coli (o (ieal SO GaianGe «a Acoirme eiferai evmia e = |

f23f® (11) : &7 DNA (Target DNA) (3 @W 321 Tb® (32 (oi[8% A (SF@ IR W& 7247] ‘Ori’ T9H |
Tt RYfomtad S e o Taa o 54 ¢

(1) e (1 e f3fe @) wok Ao

2 fefe (1) o fagfe () 76— w1

@) e ()i, e [Kgfe () =)

@ et 1) =, foe fagfe @) A

Al:1

A2:2

A3:3

Ad:4

Objective Question
843 843
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wifeTa! 1-( Sife@l -9 A5 (e |
st 1 wifer 11
(pBR322 43 %)) (taf7)
(A)  COGITEE 2ferRIE g () Pvull
(B) Smfififem efemiat 2w (1) =fsE=t v o
(©) rop (II) Bam H1
(D) ori (IV) Pstl

e Refoef i Alde Tel @@ @
1) (A)-(m), (B)-(D), (CO-(1V), (D)-(I1)
(2)  (A)(II), (B)-(IV), (O)-(I), (D)-(I)
(3) (A)-1D, (B)-(1D, (©)-), (D)-IV)
4) (A1), (B)-(III), (C)-(IV), (D)-(D

Al:1
A2:2
A3:3
A4 4

Objective Question

844 844 4.0 1.00
W i fgfe S 1 = -
/S (1) : TR 9ITHA (fig tree) ST LGS @RS (wasp) deed A I ST TR - 90 2/enfen
@ETS|” 9% FHHE & AT |
3 (1) : W @Fel R TR FER S = AR |
1 = (1) 93 730 (1) 76E A= |
@ fe o = fwfe () 75% g
@) fafe @) 7w, foe Rafe () g
@ e () v=1, e fagfe () 70w

Al: 1
A2:2
A3:3
A4 :4

Objective Question

845 1845 4.0/1.00
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v & fE e Thoeine AT ST 23 O (12 Gie Wb (I WTRger Akaon e e = 2
(1) RBC Sesii 3 i

(2) ©EeF RBC el

() = TE I A

@) FrEeRs @ 35 SrEte g @F

Al:1
A2:2
A3:3
Ad:4

Objective Question

846 | 846 4.0 1.00
Gl SR (AT FITRS o (2Pl ROAICR, IR G O] St 13 2T I Gy 1 10he (=Rl il 17 2
(1) RIS ZCERFEA
(2) ZWel® BOD
(3) wfF BOD
(4) oA e
Al:1
A2:2
A3:3
Ad:4

Objective Question
847 847 4.01.00

e it fgfe Sramd w1 =7 -

e (1) : ol TrEerE (I TR B %1 SIEARACETH0E (Graas G 2 (GPP) |
2qf (1) : ST el Teslve FReTIcEE GPP 3 (I G 24 |

Tt R omtad S e % Taa o 54 ¢

(1) e (1) 9w fgfe (1) woR Ao |

2 f=fe (1) «x f3fe (1) 16— g=

@) e (1) e, e fRgfe @) g

@ Refe 1) =, fee fegfe @) 7l

Al:1

A2:2

A3:3

Ad -4
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Objective Question
848 848 4.0 1.00

a2 wzene oS &b« s awinpRe 21 Mafeie e
(1) CrESREETe 2P b

() EEEFCIEES 6T bEg

(@) RS 9 CH-Te obm bR

(4) W @FeIEE A eeiEe!

Al:1
A2:2
A3:3
Ad 4

Objective Question
849 849 4.0 1.00
Consumer grievances are redressed by three tier machinery. Arrange the following in proper

sequence.

(A) Appeal against order of District Commission in State Commission
(B) A Complaint shall be instituted in a District Commission
(C) Appeal to National Commission

(D) Review by State Commission in certain cases

(E) Review by District Commission in certain cases

Choose the correct answer from the options given below :

(L) (B). (A) (E). D) (O

2 (A, (B), (B), D) (O

(3) (A), (B), (D), (E), (O)

(4) (B), (E), (A). (D), (O)

Al:1
A2:2
A3:3
A4 :4

Objective Question
850 850 4.01.00
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Arrange the following activities in the share trading and settlement procedure in correct order.
(A) Opening a demat account
(B) Investor has to deliver the shares sold or pay cash for the shares bought
(C) Then the investor places an order with the broker to buy or sell shares
(D) The investor signs a broker-client agreement
(E) Within 24 hours after the execution of trade, broker issues a contract note
Choose the correct answer from the options given below :

(1) @) &), E) (O (B)
@ (A (B), (D), (C) (B)
3) (A, (B), (O, (D), (B)
(4) (D) (A), (©) (E), (B)

Al:1
A2:2
A3:3
Ad 4

Objective Question

851 851
Mr. Vivek was assigned the duty to ensure that activities are carried out as per plan and objectives

are achieved. Which function of management is he performing ?
(1) Planning

(2) Controlling

(3) Staffing

(4) Organising

Al:1

A2:2

A3:3

Ad 4

Objective Question
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852 1852 4.0 1.00
The father of Scientific Management is :

(1) F W Taylor
(2) Adam Smith
(3) Maslow

(4) Henri Fayol

Al:1
A2:2
A3:3
Ad:4

Objective Question
853 853 4.01.00
BOP, GNP and Budget are part of :

(1) Political Environment
(2) Economic Environment
(3) Social Environment

(4) Legal Environment

Al:1
A2:2
A3:3
Ad:4

Objective Question

854 | 854 4.0 1.00
ldenti_fy the feature of planning which emphasises that planning is required at all the levels of
management as well as in all the departments of the organisation.

(1) Planning is primary function of management
(2) Planning is continuous process

(3) Planning focuses on achieving objectives

(4) Planning is pervasive

Al:1
A2:2
A3:3
A4:4

Objective Question
855 855 4.0/1.00
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essentially implies a process which coordinates human efforts, assembles resources
and integrates both into a unified whole to be utilised for achieving specified objectives .
(1) Planning
(2) Organising
(3) Directing
(4) Controlling

Al:1
A2:2
A3:3
A4 :4

Objective Question

856 856 4.0 1.00

‘In Anglo Ltd.", an organisation dealing in hospitality sector, there are number of managerial levels
so communication gets delayed and distorted as number of filtering points are more.

Which barrier of communication is being highlighted above :
(1) Faulty translations

(2) Complexity in organisation structure

(3) Organisational policy

(4) Organisational facilities

Al:1
A2:2
A3:3
Ad:4

Objective Question

857 ||857 4.01.00

is a technique used by managers to study the relationship between costs, volume and
profits.
(1) Budgetary control
(2) Breakeven analysis
(3) Ratio analysis
(4) PERT

Al:1
A2:2
A3:3
Ad:4

Objective Question

858 858 4.0/1.00
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“This refers to the increase in profit earned by equity shareholders due to the presence of fixed

9_Live_NCET_BEN_801-1200.html

financial charges like interest”. Identify the term highlighted in above line.

(1) Trading on Equity
(2) Floatation on Equity
(3) Trading on Debt

(4) Return on Equity
Al:1

A2:2

A3:3

Ad 4

Objective Question

859 1859

are also known as Zero Coupon Bonds.

(1) Commercial papers
(2) Treasury bills

(3) Call money

(4) Certificate of deposits
Al:1

A2:2

A3:3

A4:4

Objective Question

860 860

Four P’'s of marketing include :

(1) Product, People, Price, Promotion

(2) Product, Physical evidence, Price, Promotion

(3) Product, Price, Place, Promotion
(4) Product, Price, Plans, Promotion

Al:1
A2:2
A3:3

A4 :4

Objective Question

861 861
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Arrange the following steps related to the process of setting up a business in a correct sequence.

(A) Development of product/service idea

(B) Resource mobilisation

(C) Scanning the environment for entrepreneurial opportunities

(D) Appraisal by the funding agencies followed by project commissioning and launch
(E) Assessment of feasibility of the idea and preparation of a business plan

Choose the correct answer from the options given below :

(h) (A)(B), (©), D) (E)

@  (A)(©), ®), D) 6

3) (B, (©) (A) E) D)

@) (&) (©), (B). E), D)

Al:1
A2:2
A3:3
A4:4

Objective Question

862 1862
Arrange the following steps of planning in logical order.

(A) Developing premises

(B) Selecting an alternative

(C) Identifying alternative courses of action

(D) Setting the objectives

(E) Evaluating alternative courses

Choose the correct answer from the options given below :
(1) () (A), ©) (), (B)

2 (D) (B) (A) (O) ()

() ©) (©) (B), (A) (E)

@) (A) (B), (©). E), (D)

Al:1
A2:2
A3:3
A4 4

Objective Question
863 863
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Arrange the following activities of controlling process in correct order.

(A) Performance should be measured in the same units in which standards are set
(B) Critical point control and management by exception should be used

(C) This activity reveals the deviation between actual and desired results

(D) Setting standards which serve as benchmark for an organisation

(E) Deviation must be corrected immediately when they exist in the important areas
Choose the correct answer from the options given below :

(1) ©O) (&), ©), (B) (B)

2 D) (B), (O, (A), (B)

@) (©). (D) (A), (B), (E)

#) (&) (), B). D) (E)

Al:1
A2:2
A3:3
A4:4

Objective Question

864 864 4.01.00
Match List - I with List - IL.
List - I List - II
(A) Casual callers (I)  On the Job Method
(B) Transfer (II)  Off the Job Methed
(C) Internship Training (III) External Source of Recruitment
(D) Vestibule Training (IV) Internal Source of Recruitment

Choose the correct answer from the options given below :
(1) (A, (B)-(IV), (O)-(11), (D)-(0)

(2 (A)-(m), (B)-(LV), (O, (D)-(1D)

(3)  (A)IV), (B)-(ID), (O)-(I), (D)~(I1T)

4)  (A)-IV), (B)-ID), (O)-(I1L), (D)-(I)

Al:1

A2:2

A3:3

Ad:4

Objective Question
865 865 4.0/1.00
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Match List - I with List - I1.

List - I List - II
(A) Hunger (I)  Self actualisation needs
(B) Status (II)  Affiliation/ Belongingness needs
(C) Friendship (IIT) Esteem needs
(D) Achievement of goal (IV) Basic Physiological needs

Choose the correct answer from the options given below :
(1) (A)-I), (B)-(1), (C(IV), (D)-(IT)
(2)  (A)IV), (B)(IL), (O)-(11), (D)-(I)
(3)  (A)I), (B)-(1V), (C)-(1L), (D)-(D)
4)  (A)-(IV), (B)LL), (C)(I), (D)-(ID)

Al:1
A2:2
A3:3
A4:4

Objective Question

866 866 4.0 1.00
Select the training methods which are not the part of “on the job” training.

(A) Job rotation

(B) Coaching

(C) Case study

(D) Programmed Instruction

(E) Apprenticeship programmes

Choose the correct answer from the options given below :
(1) (B) and (E) Only

(2) (C) and (D) Only

(3) (B), (©) and (E) Only

(4) (C), (D) and (E) Only

Al:1
A2:2
A3:3
A4 4

Objective Question
867 867 4.0/1.00
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Match List - I with List - I1.
List - I
(A) Informal organisation

(B) Formal organisation
(C) Divisional structure

(D} Functional structure

4y
(11)

(1)

()

9_Live_NCET_BEN_801-1200.html

List - II

Grouping of jobs of similar nature

Interaction among people at work gives rise to a
network of social relationship among employees
The organisation structure comprises of separate
business units

Specifies clearly the boundaries of authority and
responsibility

Choose the correct answer from the options given below :

(1) (A1), (B)-(D, ©)-(IV), (D)-0)
(2) (A)-(ID), (B)-(I1D), (C)-(I), (D)-(1V)
(@) (A1), (B)-(IV), (O)-(1), (D)-(I)
(4) (A1), (B)-(IV), (O)-(I), (D))
Al:1
A2:2
A3:3

Ad:4

Objective Question
868 868

Business environment differs from country to country and even region to region . Identify the

feature of Business environment highlighted in the above line.

(1) Relativity

(2) Inter-relatedness
(8) Complexity

(4) Dynamic nature
Al: 1

A2:2

A3:3

A4 :4

Objective Question
869 869
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Match List - I with List - I1.

List - I
(A) Motion study (D
(B) Method study (I
(C) Time study (L)
(D) Fatigue study (IV)

9_Live_NCET_BEN_801-1200.html

List - II

Study of finding out one best way of doing the job

To determine number of workers. to be employed

To determine the amount and frequency of rest intervals
in completing a task

Study of movements like lifting, putting objects and
changing positions etc

Choose the correct answer from the options given below :

(1) (A1), (B)-(11), ©)-1), (D)-(IV)
(2)  (AIV), (B)(L), (C)-(II), (D))
(3) (A1, (B)-(D), (O)-(1L), (D)-(IV)
(4) (A0, (B}-(I), (C)-(IIL), (D)-(IV)
Al:1
A2:2

A3:3

A4 :4

Objective Question

870 870

Match List - I with List - I1.

List - I
(A) Planning (0
(B) Organising (1)
(C) Staffing (IIT)
(D) Controlling (IV)

List - II

Assigning duties, grouping task etc

Finding the right people for the right job

Determining in advance what is to be done

Establishing standard of performance, measuring current

performance and taking corrective action if required

Choose the correct answer from the options given below :

(1) (A)-(IV) (B)«(III), (O)-(1D), (D)-(D)
(2) (A, (B)(1D), (©)-0), (D)-({1V)
(3)  (A)-(LV), (B)-(1), (C)-(I11), (D)-(D)
(4) (A)(ID), (B)-(I), (O)-(ID), (D)-(IV)
Al:1
A2:2

A3:3

A4 :4

Objective Question

871 871
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Which of the following are not the elements of marketing mix ?
(A) Product

(B) Customer/Consumer

(C) Procurement

(D) Promotion

(E) Perception of consumer

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2 (B, (O and (D) Only

(3) (B), (C) and (E) Only

(4) (O, (D) and (E) Only

Al:1
A2:2
A3:3
A4:4

Objective Question
872 1872 4.0 1.00
Identify the factors which are not aff ecting the requirements of fixed capital :

(A) Scale of operation

(B) Diversification

(C) Seasonal factors

(D) Operating efficiency

(E) Technology upgradation

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (D) and (E) Only

(3) (B) and (D) Only

(4) (C) and (D) Only

Al:1
A2:2
A3:3
A4 4

Objective Question
873 873 4.0/1.00
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While purchasing and using goods and services, a consumer should keep in mind which of the
following responsibilities ?

(A) Look for quality assurance mark while purchasing

(B) Read lables carefully to know the price, net weight etc
(C) Form consumer societies for educating consumers

(D) Do not assert yourself to ensure that you get a fair deal
(E) Encourage waste and littering here and there

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (E) Only

() (A), (B), (O and (D) Only

(3) (A), (B) and (D) Only

(4) (A), (B) and (C) Only

Al:1
A2:2
A3:3
A4:4

Objective Question

874 874
Which of the following is not a function of Financial Market ?

(1) Providing liquidity to Financial Assets

(2) Spreading of Equity Cult

(3) Mobilisation of savings and channelling them into the most productive uses
(4) Facilitating price discovery

Al:1
A2:2
A3:3
Ad 4

Objective Question

875 875
The various functions performed by a label are :

(A) Describe the product and specify its contents

(B) Provides protection to products

(C) Facilitates the product innovation

(D) Helps in grading of products

(E) Helps in promotion of products

Choose the correct answer from the options given below :

(1) (A) and (D) Only
(2) (A), (B), (C) and (D) Only
(3) (A), (C) and (D) Only

4) (A), (D) and (E) Only
Al:1
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A2:2

A3:3

A4 :4

Objective Question
876 876

9_Live_NCET_BEN_801-1200.html

This test is a measure of individuals potential for learning new skills.

(1)
(2)
3)
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question
877 871

Personality test
Trade test
Aptitude test
Interest test

s -3 SifFs -9 75 (e |
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Al EBIAFHbAE b
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FE *F] (vacancy) B0

(0

(1D

(1)

(1v)

TR Rfos (e e Ter @ n

€Y
2
&)
#)

Al:1

A2:2

A3:3

Ad 4

Objective Question
878 878

(A)-(II), (B)~(IV), (Q)-(1D, (D)-T)
(A)-(D), (B)-(1), (O)-(L), (D)-(IV)
(A)-(I), (B)-(1v), (O)-(1), (D)-(1I)
(A1), (B)-(IV), (O)-(ILI), (D)-(D)

wifert 11

S 7 O oW B emiE =, aag Fwa 1y g
T BRI (AT 2T
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e b figfe Sramd w1 =7 -
faafe (1) : wdeiaIE o 2= 30w oM, Tw ARAIEOPTE 1076 - 104 Ohm ~1 m~ 1 &7 05 =2 |
f23fe (1) : ST N ARIEOR Fe Zoz L) Sy AT |
Tt RYfoarad SIS e 0% Tad 15 59 ¢
(1) e (1) 9w fgfe (1) woR o |
2 fefe (1) «x f3fe (1) 1o g=1
@) Rafe (o, e fRafe @) w11
@ feafe (1 w71, e fagfe () A=)

Al:1
A2:2
A3:3
A4:4

Objective Question

879 879 4.0/1.00

293 K B%eei Sieew S en siitid Ky, (1274 1@ 475) @7 kbar <& 59 05 (nedl =itz 3
He N, 0,
144.97  76.48 34.86

AW (7] I A TISF ST G B8] TR @R G2R B AR SI7AS Si(e] B4 19S] FRh0E 9 | O A
«q2 B sorialE e ¢

(1) He &R0,
) O,4% He
@) 0,9 N,
@) N, R0,

Al:1
A2:2
A3:3
A4:4

Objective Question
830 880

10 g, NaOH, 500 mL 3(F F91g9 I (I B39 2/s 27 ©F (e’ +o ¢

(Na & #AF=1ef<e @9 =23 g/mol, O Gq AFNI{F 87 =16 g/ mol, H 97 #T9"F ©7=1 g/mol)
(1) 5x10-1M

() 5x10~2M

(3) 5x10' M

(4) 5x102M

4.01.00

Al:1
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A2:2

A3:3

A4 :4

Objective Question

881 881

T4 G TG AR (T FOFFS I 7143 O,y & N (50 /F9 23 ¢
1) @
(2)
(@) ==
(4) w1

Al:1

A2:2

A3:3

Ad:4

Objective Question

882 882
27E O SRR, RSEe Y1 TSR S AT ¢
(Gredl 2R
EKUK: ~ 205V, EA13+/A1: — 166V, pr2+/Pb
(1) Pb<Na<Al<K
(2) Pb<Al<Na<K
(3) K<Na<Al<Pb
4) K<Al<Na<Pb
Al:1
A2:2
A3:3
Ad 4
Objective Question
883 /883
kt = InTCh a mafers fifemt g o
(1) 22
(2) sl
() vom
(4) T
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Al:1
A2:2
A3:3
Ad:4

Objective Question

884 884
1130 K

2hH, (8 Pt catalyst

1 00Em
(2 1

(3) 2

(4) 15
Al:1
A2:2
A3:3

A4 :4

Objective Question

9_Live_NCET_BEN_801-1200.html
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885 1885
(1) co=brEmEm
(2) CEETEETE
(@) e
(4) TEEEERRE
Al 1
A2:2
A3:3
Ad:4

Objective Question
886 886
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1 @
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(3) IR GO

4)
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Al:1

A2:2
A3:3
A4:4

Objective Question
887 887

4.0 1.00
wifeid - sifesl I-g7 7w (e |
sl 1 wifert 11
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@ (AAD, (BRI, (C-D), (D)-IV)
(3 (A)(IV), (B)-(II), (O)-(I1D), (D)-(D)
(4 (A, (B)-(ID), (O)-(V), (D)-()
Al:1
A2:2
A3:3
Ad:4
Objective Question
888 | /888 4.01.00
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Al:1
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A2:2

A3:3

A4 :4

Objective Question

889 /889 4.0 1.00

e wfom W @F @9h0e AFHEs WIe w7
1) HS,0,
(2) H,5,04
(3) Hy5,05
4)  Hy504

Al:1

A2:2

A3:3

Ad:4

Objective Question
890 890 4.0 1.00

TR offm g aRe seeke G o @@l
(ay Titd

(B) Mn*3

(& Znh2

(D) Sc¢t3

E) Tité

Fafafae fafosf (e 7 Tef @ fme
(1) BEE(A), (B) =R (©)

(2) =¥a (B), (CO) 9k (D)

(3) | (A) IR (B)

(4) 3G (O), (D) &R (E)

Al:1
A2:2
A3:3
A4 4

Objective Question
891 891 4.0/1.00
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(B) select

(C) Distinct{cities)

(D)  Supplier

e Refosf 2w Aos el @ @ s

M (D) (A), (B), (C)
(2 (B), (A) (Q), (D)
3 (B, (C) (A) (D)
@ (), (A), (D), ©)

Al:1

A2:2

A3:3

Ad:4

Objective Question

936 936 | Question no. 1 to 10 are Mandatory

file:///D:INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html
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(BRITE 7He0D SIErR @6 Ao e SQL @ FaFReuRR W (@R 9,/ FC 95 = ¢
(1) Update
(2) Alter
(3) Modify
(4) Change
Al:1
A2:2
A3:3

A4:4

Objective Question

937 1937 | Question no. 1 to 10 are Mandatory 4.01.00
sifer 1~ Siferl -3 55 Getle |
wiferl 1 wifert 11
(A) Modem O afb =t FECeNEAE a2 2%ER 7 R e e
(B) Router (1) SIREs P (s feanie by #Fafes wE
(C) Repeater (1) «Ff6 Local area network-(F TOREGA A TG I
(D) Gateway (IV) 751 (weakened) PTG 2jHeBesiiie
e Rgfoaf (A Aes Teal @z FF ¢

(M (A1), (B-(IV), (C)-(IT), (D)-(IIT)
2 (A)A1D, B)-(D), (O)-1), (D)-(IV)
@) (A1), B)-(D), (©)-IV), (D)-[I)
#) (A, (B)-(IV), (O-(I), (D)-(II)

Al:1

A2:2

A3:3

Ad:4

Objective Question

938 1938 | Question no. 1 to 10 are Mandatory 4.0/1.00

AT NIC- @I G SOCGA, | B GAFE FATHE Seied HAT Hieresad e
AR |
L P
(2) MAC
(3) URI
(4)  8-bit

Al:1

A2:2
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A3:3
A4:4

Objective Question

939 1939 || Question no. 1 to 10 are Mandatory 4.01.00

SQL ¢ FfEife T e bR 9 <% So={06a A 7 |
select LEFT(RIGHT(“COMPUTER SCIENCE”, 7), 3)

(1) COMP

(2 TER

(3) scl

(4) NCE

Al:1
A2:2
A3:3
Ad: 4

Objective Question

940 940 || Question no. 1 to 10 are Mandatory 4.0/ 1.00

T 2V (RAIE EOENBH & FI610 AR e GrASEeE qEE, Gt A i e |
(A)  x=int(input(’Enter a number’))
(B) print(x+10)

(©) try:
(D) prink(’It should be a number’)
(E) except ValueError:

frafarfes fgfosf ite wlde Teafb e fm e
M (©. (A), (B), E), (D)
(2 (A), (B), (©), (). (D)
@) (B) (O, (A). (D), (E)
@ (O, (D), (&), (B), (E)
Al:1
A2:2
A3:3

Ad:4

Objective Question

941 941 || Question no. 1 to 10 are Mandatory 4.0/1.00

file:///D:/INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html 59/168



7/10/24, 7:35 PM 9_Live_NCET_BEN_801-1200.html

FaFTeefER T (7 SQL FT 247a b] (A0 T s bl Fca 2
(A) select month(now()):

(B) select monthname('2006-02-02");

(C) select monthname(Date (Now()));
(D) select month("2010-08-20");

(E) select menth(Day("2010-08-24"));
aferie ffosf 2t Aos Tel @ fm @
(1) wgEa (B), (©)

(2) g (A), (B), (©)

@) = (4), ©), B

(4) =04 (B), (©) (D)

Al:1
A2:2
A3:3
Ad: 4

Objective Question

942 1942 || Question no. 1 to 10 are Mandatory

Faeve Az el Fdoa T @9 (et a6 sz asm wiE adms M v

with open(”pr.txt”) as M:
x=M.readline()

(A) x7T% FREH [IITE 2108
(B) pr.txt FEAG (o1 T T IW A (T TG 7 AT
Q) Ry FEe a5 791 Wi (e giad 718 F903
(D) =F0%e “pr.ixt’ G356 text P
(E) %% ‘pr.txt’ read mode-& (I 2TEA
frferfds fgfoef (i wlde Seafb e i ¢
(1) @EE (A), B), (D)
(2) @ (A), (D), (B)
() =T D), (B)
(4) ®ErE (), B), ©

Al:1
A2:2
A3:3
Ad: 4

Objective Question
943 11943

file:///D:INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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FE  Abe.txt! (AT “final-txt’ ATSF0 712 ‘A’ 3 e o Qawt! Tdre Fugwe «is @eb @[
Tz g e afia ofF wie gu Taw) Mo A aer [ v S e el Al
S ST Al < |

Fa.close()

Fb.close()
(A) write(i)
(B) ABC.txt
(C) readlines()
(D) ‘final'txt’, “a”
(E) i[0]=="A"
e fgfeef i A Senf (0 o ¢
M (B, (D), (A), (B), (O
2 ([O) (B) (A) (E) (©
3 (D) (B), (O, (E), (A)
@ (B, D) () (E). (A)

Al:1
A2:2
A3:3
Ad:4

Objective Question

944 1944 || Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
(02 GIDIER G99 G0 g, A @ & 7 Oib! @ife: & =)
(1) b femmiE
(2) T FHR
(3) PRI

(4) I PIRES

Objective Question

945 (945 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00
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13 2ve [Eze A ‘Heaven. txt I2E0 [H57 326 ¢
[ INDIA IS LIKE A HEAVEN ON THIS EARTH |

9_Live_NCET_BEN_801-1200.html

s @ B ([TOE  ebi GRE! 9 2R OF A9 Shf5, eiie Tk (A Alfea Y |

with open('Heaven.txt’) as p :
foriin p:
print(i[0 : 4])
print(i[:: 12])

print(i[2 : 4], i[7, 8], sep="%")

print (i[ —1])

print(’ ####°)
(A)  ####
(B) IEN
(© H
(D) INDI
(E) DI%S
e Rgfoef (Ate Aos et (are i ¢

M D) (A), (B), (E) (O
(2 (D), (B), (E), (O), (A)
(3) (D) (A), (©), (E), (B)
4) (A), (B), (D), (B), (O)
Al:1
A2:2

A3:3

Ad:4

Objective Question

946 (946 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Gl I (stack)-a BomREE (A9 w1 7 ARG (wEA @S Al

(1) Front
(@) Top
(3) Rear

(4) Both front @< rear

Al:1

A2:2

A3:3

A4 :4

Objective Question

947 11947

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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sifer - sifer 11-a3 75 GEle |
wifer 1 wifer 11
(A) GROUP BY 1) NEHH TSRS [ FEre
(B) ORDER BY () FACHER Co [efe @ ARF S efi Rrebi I
(€} SELECT (IT1) Ascending/descending order-& TI5] ST AYE FE
(D) WHERE (IV) ¥ ©JFd (Common Values) €97 f&f6 F@ 4 @ (Rows) @5

(D Fd

afTe fRfee @ Alde Terlt @ o ¢
(A)-(m), (B)~(D), (C)-(1L), (D)-(1V)
(A)-(IV), (B)-(I), (C)-(II), (D)~(II)
(A)-(1V), (B)-(1L), (C)~(I), (D)-(II)
(A)-(11), (B)-(D), (O)(1V), (D)~(III)

)
)
)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
948 1948

(1)
2
3)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
949 1949

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

oS “EhT FTSTT TOTGH 993 (919 A79F NIC 7 €97 @7 = |

[P address
MAC address
IMEI

IPV

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

SQL- S AT % (command )b 75w %% a1 STUDENT (Admno, Name, Div, Marks) (5{3#
(TS ©fS7 3R (Admission no.) (I 5971 BIGGH 1500448 T SId (FFCS(E 0% (FeI0e 203 ¢

Delete Admnoe from STUDENT where Admno < 1500;

Delete from Student where Admno < 1500;

Delete * from student where Admno < 1500;

Delete Student where Admno < 1500;

(L)
2
()
4)

Al:1
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A2:2

A3:3
A4 :4

Objective Question

950 950 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.01.00

W 2ve (R YEE PO Sereesiive S =R Sje (3 (IO CAFC (% Wea A e
(1) =T\
(2 =L
(3) b
@) RPEGE

Al:1

A2:2

A3:3

Ad -4

Objective Question

951 |951 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

THA (FFLE AHRTSE Ao (99 ZETE?
(A) IndexError

(B) ValueError

(C) KeyError

(D) SyntaxError

(E) NameFError

Auferie Rfouf it #fos Teal e Fm ¢
(1) S (A)

(2) =guia (B), (D)

() =Fa (A) (O, (E)

(4) =4 (A), (B), (D), (B)

Al:1
A2:2
A3:3
A4 4

Objective Question

952 1952 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00

file:///D:/INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html 64/168



7/10/24, 7:35 PM 9_Live_NCET_BEN_801-1200.html

sifer@ 1-F Sife a7 75 GEle |
wifert 1 sifer 11
(A) Prefix () ab*cd*+
(B) Push (1) I G €T (A TAMRCE AR (e
(C) Postfix (L) B~ ST Sl (o) <)
(D) Pop (IV) +**abed

e R (2 AoE Telb (0z 7 ¢
@) (A)-IV), (B)(I), ([©)-(I), (D)-(1L)
2 (AHIV), (B)-(ID), (O)-(I), (D)-(IN)
@) (A)-(), (B)-(1V), (OH1L), (D)-(D)
@ (A1), (B)-(ID), (©O)-(), (D)-(IV)

Al :1
A2:2
A3:3
Ad:4

Objective Question

953 953 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00

] GG W2 FRE (K (GRS e @G GRTFT G THiEAe T0E AN |
(1) PAN

(2) LAN

(3) WAN

(4) MAN

Al:1
A2:2
A3:3
A4:4

Objective Question

954 954 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00

9 eiwe (GRsT EMP (20 i (IR (query) 52231 316 ‘Phoneno’ F#1I9-93 FRSF (2ATF A SAPTE ?
(1) select LEFT(‘Phonene’, 3) from EMP;

(2) select substring(Phoneno, 1, 3) from EMP;

(3) select substring(Phoneno, 0, 3) from EMP;

(4) select substring(Phoneno, 1, 4) from EMP;

Al:1

A2:2
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A3:3

Ad:4

Objective Question
955 1955

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Tl 53 T A (GG FEER (text files) &) eTATes = |
(1) SIEER SATSR FEFE (characters) (o910 «f5 91fie
(2) @b <= GIHTE BH! Wz
(@) sl TTFEIE 0s @R 159 HEAFS
(4) ATTRE (GG FRER FNAT ©IE] AR | TACE ST 19 1267 o
Al:1
A2:2
A3:3
Ad:4

Objective Question

956 956 || Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.01.00
AT A @A CAPEBISE 3 ez 9w Tenale Haa w9 |
(A) @6 AN (Binary) 76 S T
(B) &< TofwA wEMIF @Al At 375l
(Q @b Forem a8 IR Wawa a2 T
(D) «ft @ Feren Teanfifes e
(E) @ amZ (sorted) SNTEF (array)-4 2@ F& F@
nfafas Rgfosfa e wfde Seafd @m e
(1) =@ @), ©), (B)

@ =FE @A), (©), B
(3) =@ (A), (©), (D)
(4) BgE (A), (B), (D)

Al:1
A2:2
A3:3
Ad:4

Objective Question

957 957 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00
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THA (% RDBMS-aq Szl =131 ¢
(1) MySQL

(2) MongeDB

(3) MS-ACCESS

(4) ORACLE

9_Live_NCET_BEN_801-1200.html

Al:1
A2:2
A3:3
A4 :4

Objective Question
95; 958 . Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.01.00

59 @maf DEQUE- (aMEiaf adm wm e

(A) Queue CAMRSER T @ (A SN S 2T FAA QTS AT

(B) «f @& faatd <7 2@ A (queue)

Q) Queue-G ANF 7] & 1 ¢lB 20 2/

(D) AR (Rear) (104 IS 20O #AICH &

(E) Queue-& AR (ATE OIS 02 (et TR A1

e fyfoe (e Aos Terl @ 2

(1) =g (A), (B), (©

(@ == @), ©), (B)

(3) ®4E (A), (D), ()

(4) ¥ (B), (D), (E)

Al:1
A2:2
A3:3
Ad 4

Objective Question

959 959 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00
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5 (rew] AT @D o AR SIFREA, 2T A BT (sorted) T TRF AL A999 & | Ao GeAfb AR
T o149 A 2T 2R 2/ SIferRmib v |

ORI Wswei wifReg T 28 : 24, 22, 43, 17, 5, 20

(A) 22 24 17 5 20 43

B) 5 17 20 22 24 43

(© 5 17 20 22 24 43

D) 22 17 5 20 24 43
() 17 5 20 22 24 43

e Rgfoaf (U 7os Teal @ fm @
(1 (©), (B), (E), (D), (A)
(@ (A) (D), E), ®) (©
@) (B). () (E) (D), (A)
#) (A), (D), (B), (C), (E)
Al:1
A2:2
A3:3

A4:4

Objective Question

960 960 || Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00
sifer@ -z Siferdl a1 705 G |
Siferl 1 wiferst 11
(A) Web page 91 €09 (G (I)  Structured data
(B) WG (FFC T2 (Student’s record file) (II) Data about data 31 T6 FFA B!
(C) Metadata ! (36! ©l6T (IlT) Database management system
(D) MySQL (IV) Unstructured data
e fefesf e #le Tel A fm:

M (A1), (B)-(ILL), (C)}(IT), (D)-(IV)
@) (A)AIV), (B)«(II), (O)-(1), (D)-(1I)
(3) (AL, (B)IV), (O)-(1I), (D)-(I)
#) (A)-(IV), (B)-(D), (C)-(IT), (D)-(IIL)

Al:1

A2:2

A3:3

Ad:4

Objective Question

961 961 || Question no. 1 to 10 are Mandatory 4.0/1.00
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s BIBIATE Tl T TOTACHE 9503 /SISTEA 9 515 F=={(F ¢ |
) TR
) TG B
(3) I PIEED
) TR

Objective Question

962 962 || Question no. 1 to 10 are Mandatory

sifer 1-F sifert -3 5z Getle |
wiferl 1 wifert 11
(A) BioF 0) SIE BT (AT G I G SR 917 T (@S 2
(B) FeH (Il) SRPTFER ! A=W (Interrelated data)
(©) CcoEs (Il ©HIEER Sy @i (ke
(D) wibica (V) <=f6 (BRIt 9l @FE
e Rgfoaf (U 7os Tealb @ fm @

(1) (A)-(IV), (B)-(LIL), (C)-(1), (D)-(IT)
2  A)-(0), (B, (O-1V), (D)-(III)
(@) (A1), (B)-(IV), (O(IL), (D)-(D)
#)  (A)-(V), (B)-(D), (C)-(ID), (D)-(IIT)

Al:1

A2:2

A3:3

Ad 4

Objective Question

963 963 | Question no. 1 to 10 are Mandatory
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YL (I e BTE ALZAR 99 (BE (2 7 ABAEE *2@d a6 Oilers| 2wsiq 0o o |
SQL-q 2ivE Fo/ TS Aee |

(A) from
(B) select

(C) Distinct{cities)

(D) Supplier

e Refoef i wids Tel @mim e
(L) (D) (A), (B), (©)

(20 B, (A), (C
(3 (B),(©) (A
4) (B),(A) (D), (C

Al:1

A2:2

A3:3

Ad:4

Objective Question

964 964 || Question no. 1 to 10 are Mandatory

(BRITE S0 SIErR @6 ARae 00 SQL @ FaFReuRFR W (@R £,/ FC 970 T 7

(1) Update
(2) Alter
(3) Modify
(4) Change
Al:1

A2:2

A3:3

Ad:4

Objective Question

965 965 || Question no. 1 to 10 are Mandatory

9_Live_NCET_BEN_801-1200.html
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sifer - Sifer 11-a3 705 GEle |

wifer 1 wifer 11
(A) Modem O @b G @OeaFa et Gag 2lER [ B F1
(B) Router (D) st e (2t fefenie o9 «ifaefos o
(C) Repeater (Ill) «=% Local area network-(F FHREHA % € FE
(D) Gateway (IV) ¥9e (weakened) PioFTRGI FHseesiiie
At Rgfoef (it wlde Sl @m fm e

@M (A1), (B-(IV), (C)-(L), (D))
(2) (A)-(D), (B)-(), (O)-(1mm), (D)-(IV)
(3) (A1), (B)-(D), (O)-(IV), (D)-(0)
(4) (A)-Im), (B)-(IV), (O)-(1), (D)-(II)

Al:1

A2:2

A3:3

Ad:4

Objective Question

966 966 || Question no. 1 to 10 are Mandatory 4.0/1.00
ATTF NIC-GF B G=5fo ICGH, AN O EGAHE FCHIAR SHIos HolP bRresad e
HAIZRY S |
(1 I
(2) MAC
(3) URI
(4) 8-bit

Al:1
A2:2
A3:3
Ad:4

Objective Question

967 967 || Question no. 1 to 10 are Mandatory 4.0/1.00

SQL @ WS TR ¢2[ [H6R 9 9T SSH2{0F 2w 359 |
select LEFT(RIGHT(“COMPUTER SCIENCE”, 7), 3)

(1) COMP
(2) TER
(3) SCI

(4) NCE
Al:1
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A2:2

A3:3
Ad:4

Objective Question

968 968 || Question no. 1 to 10 are Mandatory 4.0/1.00

T 2WE (RIS ETBCTTH 7 (b ARG 58 GEAIEeE 0T, GOt e A T Aw |
(A) x=int(input(’'Enter a number’))

(B) print(x+10)

(©) try:

(D) print(’It should be a number")

(E) except ValueError:

afeie sl & Ao Tef @0z om ¢
1 ©, (&), (B), (E), (D)
2 (@A), (B), (©), (E), D)
(3 (B (©) (A). (D) (E)
@ (©, (D) (A), (B), (E)

Al:1
A2:2
A3:3
A4:4

Objective Question

969 969 || Question no. 1 to 10 are Mandatory 4.0/1.00

FRFToLRER 00 @ SQL FT 247e Bib] (A0 Mo b1 a2
(A) select month(now()):

(B) select monthname('2006-02-02);

(C) select monthname(Date (Now()));
(D) select month{’2010-08-20");

(E) select month(Day('2010-08-24"));
et Refos i Alde Tl @m @ e
(1) ©EE(B), (O

(2) BEE (A), (B), (©

(@) =Fa (A), (D), (B)

4 ©E (B), (©) (D)

Al:1
A2:2

A3:3
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A4 4

Objective Question

970 970 || Question no. 1 to 10 are Mandatory
e oAf2em (@Ieb FE6a T @A (e a6 TR G Fo qelfb Feiam e
with open(”pr.txt”) as M:
x=M.readline()
(A)  x 7% PEEE e 70e
(B) pr.txt A6 WAl 11 = AW G (W S &G 7 A
Q) @y Fzelh 9% o4 WW (e’ g 318 e
(D) ¥Fi%e ‘pr.xt’ G5B text e
(E) ¥ ‘pr.txt’ read mode-g (el Peibg!
e Rgoef (At Alds el (g i ¢
(1) =14 (A), (B), (D)
(2) =FE (A), (D), (E)
(3) wgE (D), (E)
(4) =FE (A), (B), (©)

Al:1
A2:2
A3:3
A4:4

Objective Question

971 |971 || Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

@ R STUD- Feden & (foreign key) (15 08 =59 ABF SQL I Fiivel 2 |
(1)  Alter table STUD add foreign key (roll) references STUDENT(roll);

(2) Alter table STUDENT add foreign key(roll) references STUD(roll);

(3)  Alter table STUD meodify foreign key (roll) references STUDENT(roll);

(4) Alter table STUDENT update foreign key(roll) references STUD(roll);

Al:1
A2:2
A3:3
A4 :4

Objective Question

972 972 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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I (GBI ey *i12) AACE G 2AToF 1A G 4] G (@ (basic) (BILARIS ARFS 2/ 2

(1)
@

)
3)
(4)
Al:1

A2:2

A3:3

Ad:4

Objective Question

Bus <1 9™

Ring (72) =1 7=
Tree 91 92

Star <1 %

973 973 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

sifert - Sifere -7 77 GrTe |
Sifer 1 wifert 11
(A) Modem () NIC [Network Interface Card] R1a € ifafbe
(B) Ethernet card (11) <l FR{IBl O SRR feeiEsiE e @l g
(C) Switch () EGEATHEI LT GR 2F= T T @
(D) Gateway (IV) SuREs] Pioie «1g fefanie Riba siea moliaaaae
Fafefae Refeaf cuwe #foe Teaft @ s
1 A0, (B, (C)-(II), (D)-IV)
2  (A)-(1, B)-(D), ©)-1V), (D)-0)
(3  A)-(IV), (B)(I), (C)-(IL), (D)-(IIT)
(4) (A1), (B)-(IV), (O)-(D), (D)-(I)
Al:1
A2:2
A3:3
Ad:4

Objective Question

974 974 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

o 2ve AWE (GRTERT (At P F (foreign key) Wb w2 ¢

(@)
(b)
)
2
&)
4

Emp(empno primary key, ename, address, depino)
Dept{deptno primary key, deptname, daddr)
empno from Emp

deptno from Dept

deptno from Emp

address from Emp
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Al:1

A2:2

A3:3

A4:4

Objective Question

975 |975 || Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.01.00
SR =12 SIemEE AR TS wfEe weifbalt A e A Fwt FRITY |
(A) city=[Delhi”, “Mumbai”, “Lucknow”, “Jaipur”]

(B) pltshow()
(C) temp=[37.6, 28, 30, 35]
(D)  import matplotlib.pyplot as plt
(E) plt.plot{city, temp)
feriee Rgfoefs At s Teaf oz fm ¢
1) (©, (D) (B), (B), (A)
(2 (B, (A), D), (©) (B)
(3) (D) (A), (©), (E), (B)
@) (A), (), (B), (O, (D)
Al:1
A2:2
A3:3
Ad:4

Objective Question

976 976 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00
T5a (e of2UE s SiEe (attributes) T 2
(A) head
(B) dtypes
(C) shapecount
(D) nvalues
(E)y T
e fyfos e 7e Tl e fm e
(1) BFE (A), (O), (D)

(2) =@ (A), (B), (B)
(@) =¥ma (©), (D), (B)
(4) ®¥E (B), (O) (D)

Al:1

A2:2
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A3:3

A4 :4

Objective Question

977 977 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

SOL FUBTT R Ao @ a5 29 1 “SCHOOL” BHTE™ (203 QA (7305 2wl 309 9% 23 |

(A) INSERT INTO STUDENT VALUES (101, ‘Sachin’);

(B) USE SCHOOL;

(C) CREATE TABLE STUDENT (RollNum INT, ‘Sname’ VARCHAR(20));
(D) CREATE DATABASE SCHOOL;

() SELECT * FROM STUDENT;

affe fRafouf @ As el @ @
1 (&), (D), (B), (), ()
@ (©) (B) (), (A) (E)
@) @) () (A) (B), (E)
@ (©), (D), (B), (B), (A)
Al:1
A2:2
A3:3

A4:4

Objective Question

978 978 || Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00
sifer 1-F Sife -7 55 GEe |
sifer 1 wifer 11
(A) HTTP (1) TR FE ACH T
(B) FTIP (1) TGS G @R
(C) TCP/IP (1) 201 AR o @B
(D) SMTP (IV) Pize T G (IO
e fafost (e e el @ fm:

D (A)-IV), (B)(1), (C)-(IL), (D)-(1L)

@ A1, B)-1V), (O-0), (D)-(IL)
() (A0, (BHIV), (©)-(I), (D)-(1)
(#) (A, (B)-(LV), (O)-(1D), (D)-()
Al:1
A2:2

A3:3

Ad 4
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Objective Question

979 979 || Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0//1.00

2-D SR (array) AREE FE R GCF WS AT G (I TIGIEA (SR 0T G GUEIGE] B
FACTA @57 WOH (G TCE | TS (I @i oot et |
(A) df=pd.DataFrame(nr)

(B) import numpy as np

(C) print (df)

(D) import pandas as pd

(E) nr=np.array([[0, 1, 2], [4, 8, 12]], np.int 32)
Fafafas fefee (= wfs Tl @z fm e

® (B, Q) (D) (). (A)

2 @), (B) (B), (A), (©)

3) (A (B), (D), (O), (E)

@) (A) (B), (D), (B), (O)

Al:1
A2:2
A3:3
Ad 4

Objective Question

980 980 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.01.00

e TRt SQL-&F 9 |
) MOD()

2)  TRIM()
) POWER()
)  ROUND()

Objective Question

981 981 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00
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NS THIEY a7 FaFRe (@ TAWMa @IE csv FEE (@08 W00 HRFNR @ISET 91 (A (AT

el WS FoH w2
(A) head()

(B) First()

(C) head(n)

(D) Tail()

(E) Last()

frafafae fgfeef (s AfF Tl e fm
(1) =F04 (A), (B), (E)
(2 =@ (A), (O, (D)
(3) =¥Na (B), (C) (D)
(4) =FN4 (B), (O, (E)

Al: 1
A2:2
A3:3
Ad 4

Objective Question

982 1982 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Y eve (@ PR F-1E (COR A0 I S ekiEe AR fMre 97 2
(1) dropmissing()

(2) dropnull()

(3) dropall()

(4) dropmna()

Al:1
A2:2
A3:3
A4 :4

Objective Question

983 983 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00

file:///D:/INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html 78/168



7/10/24, 7:35 PM 9_Live_NCET_BEN_801-1200.html

057 (9 FEH THIFEE ‘conn’ T TILH T sql query (8 AT AR, (IA pd. @=2 T1 (5=

SICT AN SRS 20D 1 2 A |

(A) pd.read_sql_query('select * from T1’, conn)
(B) pd.read sql_table(T1, conn)

(C) pd.read_sql('select * from T1’, conn)

(D) pd.read sql _query(T1, conn)

e fafest (e e el @ fm:
(1) = (A), (B), (©)

(2) =Fa (A), (O)

(3) =gE (B), (C), (D)

(#) TgEmE (A), (©), (D)

Al:1
A2:2
A3:3
A4:4

Objective Question

984 1984 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

sifer @ 1-( ife 1197 55 GEs |

sifer 1 sifer 11
(A) Show() 1) shekrs e aEneltn o ser i a4
(B) grid() () 26 X 3N Y @ASTE G /RE] FRLTA]
(C) legend() (111) RFsf/BIoCe e Fa0e %S 23
(D) plot() (IV) BICoa Gt/ (F feTrerer Sofd glois 0a
e fgfeeR @ #os Tel @ w2

M (A1, B)-(1V), (O)-(1), (D)-(IL)
(2)  (A)-(), (B)-(ID), (O)-(I), (D)-(IV)
(@) (A)AD), (BR(IT), (O)(1V), (D))
(#) (A)-(m), (B)-(I), (C(IV), (D)-(IT)

Al:1

A2:2

A3:3

A4 4

Objective Question
985 |/985
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Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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TN (T (TSHAEE G AT (revenue) T4 T ?
(1) Virus

(2) Trojan Horse

(3) Adware

(4) Cookie

Al:1
A2:2
A3:3
A4 :4

Objective Question

986 986 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

PR ST < ] BT Tl R (DI HOF F0S ISR S A2 0 AT |
(1) Black Hats
(2) White Hats
(3) Grey Hats
(4) Green Hats

Al:1
A2:2
A3:3
Ad:4

Objective Question

987 1987 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

TR SR FPIZ006 SRR G0 I e AAfbe |
(1) Patent

(2) Copyright Infringement

(3) Trademark

(4) Open Source Software

Al:1
A2:2
A3:3
A4 :4

Objective Question

988 1988 | Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0/1.00
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T 2ve A (2 wfeT 7o 79+ |

(1) SFREGE aR TSI (P e 2T |

(2) TEDETAGA T =R G GFH G FS FONE T ZE SIA |

(3) SRR e IR T G (E ARG S 21 BCE 7 I CReriEen] 6 |
(4) R i [ 2w GG (AT (patent)-F 27 FATFS (4 |

Al:1
A2:2
A3:3
A4 :4

Objective Question
989 /989
National Bank for Agriculture and Rural Development (NABARD) ([« 351 fefer ofa o fee zmfe,

i oive R e (4 @z g

(1) SRR SRS “fafes e 771 =1 |
(2) whmalefLE [Fee A |

() eeF MR Reies=d |

(@) FEFRANR THe A |

Al:1
A2:2
A3:3
Ad:4

Objective Question
990 1990

SIS =l 2T e 9N (@ SinaeE Oon dfele 9 =
(A) Fol

(B) el Al (el

(Q) @f*ige Az

(D) ufw

(E) orew o

afaie esef s 7 et @mim e

(1) =@ (A), (B), (O) 9= (E)

(2) BFE (A), (B), (C) 9. (D)
(3) BE (A), (B) 9% (D)
(4) ©EE (A), (B) 9=k (E)

Al:1
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A2:2

A3:3

A4 :4

Objective Question
991 /991

Yol s GDP e et simfen st doer @ a9

9_Live_NCET_BEN_801-1200.html

st A

B

fawma 100 Bis

300 Gl

S (El9ge
weaE S e

100 Bi=d

(1) 400 By
(2) 100 HRe
(3) 200 B
(4) 300 i

Al:1
A2:2
A3:3
Ad:4

Objective Question

fefoger 899 o€ I linear demand curve - 97 B 26 RMSTAE A0S (AT (B STPAE

992 (992
Herne 2
K
Pricé ]
1
H
,’/G =
| Quantity
Demanded
A) G
(B) H
© I
(D) I
(E) K
e Frae® 2 Abe Twb @ e e

M (A), (B), (©), (D) ()
2 (D) ([E)(©), (B), (A)
3) (©, (D) (E), (B). (A)
# (B, (D) Q) (B), (A)

Al:1
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A2:2
A3:3
Ad:4

Objective Question
993 1993 4.0 1.00
‘Ex-ante’ *™ (F 74 A& A ¢

(1) eFoIeH [ Qs

2) T e Aty

3) AT AT R AR N Y FE Hife |
(4) o @ R CaE IR

_——

)
)
Al:1
A2:2
A3:3
A4 :4

Objective Question
994 11994 4.0 1.00

Hpa ewe REgefle@ e (M Indifference Curve (IC) T 9] 717 8
(A) IC AW (AT TFRMWIF BF S 1 A1 |

(B) TBb IC &% TR G5! 2iel A |

(€ ¥ IC U= SR [Moe IS A |

(D) Diminishing Marginal rate of substitution SICIH iz |
(E) Talb@2ia #=% (Monotonic preferences)

Al fAemefe (e Ao Tel @ ¢

(1) ST (A) <5 (B)

(@) =g () & (D)

() e (©)

(4) w§TE (C) & (B)

Al:1

A2:2

A3:3

Ad -4

Objective Question
995 11995 4.01.00
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ol Fhmi Zifore Tafes (R a4 2
(1) 1951

(2) 1952

(3) 1950

(4) 1953

Al:1

A2:2

A3:3

A4:4

Objective Question

996 996

sifera - Sifem -3 75 GEe |
sifer 1

(A) BEE 2 (Final Goods)

(B) ¢=190 4 (Consumption Goods)

(C) A A (Capital Goods)

(D) wEEel A (Intermediate Goods)

TS [emef (s Aes Tel (@0 ¢
M (AL, (BRI, (C)-(I), (D)-(1V)

(2 (A)-(ID), (B)-(IV), (C)-(L), (D)-(I)

@) (AL, (BR(ID), (O)(1V), (D))

#) (A)-(IV), (B)-(II), (CO)-(ID), (D)-(I)
Al:1
A2:2
A3:3
Ad:4

Objective Question

997 997

9_Live_NCET_BEN_801-1200.html

wifew 11
() lotae R «4e T2 20 A |
(1) Teoima elf e a2 219 |
(1) PR (&sl 2Rl “Ad) & |
(IV) Beolwe ST SIS Fiae &7 (Wea (e = #{f1 |
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e 9FT (money multiplier) 2@ 16 ATy =14 ¢
(A) T 64 BiF Rz 4= Mz |

(B) G &l Tl i 500 BiF A

(C) = 100 BRF T ICACE, T AT 29 20% |
(D) T {100 Bl A1l 2eal 71w el e
(E) RS Tl (FRC 80 Bt 4wz

e el e 7 Teflt arefme

D (A) (), ©), (B), (D)
@ (©, (E) (A), (D), (B)
@) (B), (E), (&), (O, D)
#) (D) (B), (A) (O, (B)

Al:1
A2:2
A3:3
A4:4

Objective Question
998 /998 4.0 1.00

AT AR S 7 A (A 2

(1) T TSR 2

(2) FkRE AN

(3) I A S a%e

(4) 70 IR T R G TR AR B, 2

Al:1
A2:2
A3:3
Ad: 4

Objective Question
999 1999 4.0/1.00

‘Moral Suasion’ W64 (LA A W@W z!
(1) State Bank of India

(2) Reserve Bank of India

(3) Rural Bank

(4) Stock Exchange

Al:1

A2:2
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A3:3

A4:4

Objective Question
1000 1000

9_Live_NCET_BEN_801-1200.html

Tiva ffouferm S (T o ¢

(A)
(B)

©
(D)

(E)

APCZ(F] (el 911 TIad @+ 24 |

Consumption function 91 ey 2El celeld Sy (consumption) '€ faerzz wEE (disposable)

AN TR |

=3 SI17 Al Disposable income 2! - SI2[SfF AISTCHA G <3|
Hes% 4@5 ql (Investment expenditure) 2 BRI 2IZA AR (injections) SAIE F26% 4054

Glcanicil
R T AP 2RICEA AT (injections) |

e Tems e 7 Twb @@

€5
@
3)
@)

Al:1
A2:2
A3:3
A4 :4

Objective Question
10011001

B« (C), (B) =R (E)
YA (C) % (D)

YAE (C) &= (E)

BRI (A), (B), (C) @=% (D)

(A)
(B)
©
(D)
(E)

ETE (IO eEE 2 e

IS BOP SRR (FWWGE B W4e A

L0 SRR TS Sa4g0ed ﬁ’?iﬁ

FIEG SORFICTHA DIohS, Toqe SO 7 1% ALZ

TS el (2 Ao Tl (@0 e ¢

(1)
)
(3)
(4)

Al:1

A2:2

A3:3

(A), (©), (D), (B), (E)
(B), (D), (©). (A), (B)
(C) (D), (A), (E), (B)

) (&), (©), (D), (E)
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A4 :4

Objective Question

1002 1002

Tsfier sifia #ifibe ¢
(1) @oge FHR! e
Q) IR G R
(@) =ITes
(@) wE =Rl

Al:1

A2:2

A3:3

A4 4

Objective Question

wfifere «fTere ga wieq o “ffere g3y w4 FhiEE @ TET dfeve e 95 (A0 AEE 9"

1003//1003
AT Tt (@0 7 |
(1) SFFIF &3
(2) TS T
@) uI ol (inventory)
(4) I (subsidiary)
Al:1
A2:2
A3:3
Ad:4

Objective Question
1004, 1004

9_Live_NCET_BEN_801-1200.html
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sife I Sifeal I1-a8 7105 e |

i 1 wifer 11
(A) GDP, @) GDP,, — YEZA
(B) GNP, () GNP, — g™
(C) NDP,_, () GDP,, — NIT
(D) NNP,, (IV) GDP,, + NFIA
FafeRe el (e e et @i e

(L) (A, (B)-I), (O-(1V), (D)-(1D)
@ (AHID, (B)-IV), (-0, (D))
(3) (A1), (B)(ID), [©)-(V), (D)-[O)
4 (A1), (B)-(1V), (O)~L), (D)-(IT)

Al:1
A2:2
A3:3
Ad:4

Objective Question

10051005 4.0 1.00

W MPC = 0.2, 28 49 Tax multiplier @7 37 &7 <% ¢
1y -1/4

2 1/4

(3) 5/4

4 -5/4

Al:1
A2:2
A3:3
A4:4

Objective Question

10061006 4.0/1.00

TIa R ST 5w S e 13 |
(A) Suez Canal 9l &S i

(B) Railways in India 9 SIS @IS

(C) Central Bank of India

(D) TISCO (The Tata Iron and Steel Company)
e Remaf o Ae Tel @ 2

M B, (A), (D), ©)

@ A) B), D), ©)

@) (), (B), (C) (D)

4 (B, (A) (O, (D)
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Al:1
A2:2
A3:3
Ad:4

Objective Question

1007 1007
Siferdl I Siferel I~ 71t (el |
wiferl 1
(A) M @R M,
(B) eMe=¥ (Fiat money)
(©) o5 FOAY S (High powered money)
(D) SORFICS 7 G
Faferfee femef 2o 7fs T @re i g
1) (A)-m), (B)-(ID), (©O-1), (D)-dV)
@ @A), B)-0), (©)-), (D)-IV)
@) (AHIV), (B)-(D), (C)-(II), (D)-(1I)
@ (A1), B)-(, (O-V), (D)-()

Al:1
A2:2
A3:3
A4 :4

Objective Question
1008 1008

T -9 SGE 7Y
(1) ¥ @f% (Capital Receipts)
(2) ARTHTS #4958 (Plan Capital Expenditure)

wifewe 11
0 dFOTT T
(I1) TGt 5T 2l Bl 2
(I1) TG RRCra =l FAseR 5o feldfae
(Iv) i ©¢ (Narrow money)

(3) weilaeiEe 4« 953 (Non-plan Capital Expenditure)
(4) ey g [KAi=e® ifE (Tax and Non-tax receipts)

Al:1
A2:2
A3:3
Ad:4

Objective Question
10091009

file:///D:INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html

4.0 1.00

4.0 1.00

4.0/1.00

89/168



7/10/24, 7:35 PM 9_Live_NCET_BEN_801-1200.html

Afoe [Rgfesf FEibe 2= ¢

(A) ETR IR Joros O A — 1 (AT + 1 Z11 LR &y AT |
(B) DUIT AL SN SWA] AR [ |

(C) FOIEALMISH TR N = |

(D) IRAIEE QBT S T LR 5T ST e G4 |
(B) SRR wwy W6 T «a e [ e eoE |
At Rewef e e Tt @i s

(1) =g=E (D)

(2) =FNa (A), (B) @R (D)

(3) =FEma (A), (O), (D) 9= (E)

(4) ©¥IE (D) 9=R (E)

Al: 1l
A2:2
A3:3
Ad 4

Objective Question
1010 1010 4.0 1.00

‘ez 95 o feifer’ GBI A ¢
(1) Ce=eE @=F

(2) vmeIR AewEie

(3) *NER =ARF 4

(4) witER [/ew

Al:1

A2:2

A3:3

A4 :4

Objective Question
1011 1011 4.0/1.00
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Besife T 2 Fonre oef Ae ¢
(A) SRS AeToew Te |

(B) Bita sfelesmsl wrs |

Q) “AfFEiE smefoewms ws |

(D) (2B aTiel TS |

e el (e Alte Se @refm e
1) (B). (D) (A), ©

@ (D) (B), (A), ©
@) (B, (D), (©), (&)
4) (D), (B), (©), (A)

—

— =

Al:1
A2:2
A3:3
Ad:4

Objective Question
1012 1012

sifer @l 1- ife 1197 55 GEls |

sifer 1
(A) IR A2l (Visible Trade) (M
(B) ST A7 (Invisible Trade)  (ID)
Q) T SO (1)
(D) =T OF (05 (V)

—

afeTire femaf (s wive T @efm ¢
(1) (A)AD, (B)-(I1L), (C)-(IV), (D)-(IN)
(2  (A)-(m), (B)-(D), (O-(I), (D)-1V)
(3)  (A)-(IV), (B)-(ID), (C)-(IID), (D)D)
(4) (A1), (B)-(I), (O)-(IV), (D)~(IT)
Al :1
A2:2
A3:3

A4:4

Objective Question
1013/ 1013

9_Live_NCET_BEN_801-1200.html

wifer 11
REIIT
AT ST GO
feiy

o (e M e B i e Gl o e Rt B R e T
LT (FF GO @6 Y
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(@ e Gl TR SR Ghg T elfs evam BTG 3o e 398 wieaidsjd ast [arame] =1
EUEeER]

(1) RS i

2 e as

(3) FEEE M

(4) wMeR TewEie

Al:1
A2:2
A3:3

A4 :4

Objective Question

1014 1014

Objective Question

10151015

4.0 1.00
sifer 1-F Siferml -3 5z Grtle |
sifers 1 wifers! 11
(A) Sfl #welom @) SRR I S 2R |
(B) TG (1)  FEpIcere @l SRl FTRITS] (ned| BeoMasers <SIae 4 &) |
(©) w=gl® () Bermrel Ifane FI CHRiaa Tnaw |
(D) «Ep.enEfe. Tig (V) @ e SReifss e 20 Sesiifne = |
FaEie fmef e 7 Telt @ @ e
(1) (A)-(m), (B)-(1D), (©)-). (D)-AV)
(2 (A, (B)-(I), (C-(V), (D)-I)
(@) (AHD, (BRI, (O-(I), (D)-(V)
@) (A, (B)-(I), (O, (D)-IV)
Al:1
A2:2
A3:3
A4:4
4.0 1.00

ISR ERERE I E R
(1) Fieeam =7 oxe

(2) T T O

() FieeHE wam @

(@) == RiGreaE A=
Al:1
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A2:2

A3:3

A4 :4

Objective Question

1016 1016

B TS {fRerm 7% @i, TR Y T ARl (24

(A)
(B)
©
(D)
(E)

9_Live_NCET_BEN_801-1200.html

G A TS 7w Fee o e |
b s Sga 2mMewce ¥ el |
bl @ice ot [ivas) e e w1 aiee 9w fes A |

T o, g e aR (iR e (20 e 99 - @3 wieitafes Tafen fefesf o wafa |

AIoRE T TN B I WA ATNE SO T |

Al sl (e Aow Tel (@0 @

(1
2
(&)
#)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1017 1017

BTG (A) =R (O
wyEE (C) @3R (E)
B4 (B) @=g (D)
w9 (A) 998 (E)

This method is widely used for drawing isometric circles :

()
(2)
©)
4)

Al:1

A2:2

A3:3

A4 :4

Objective Question

10181018

Four centre method
Two centre method
Five Centre method
Three Centre method
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projection needs a single scale to measure along each of three axes :
(1) Oblique
(2) Dimetric
(3) Isometric
(4) Perspective
Al:1
A2:2
A3:3

Ad:4

Objective Question

1019 1019 4.0/ 1.00
Choose the correct statement for the given figure of isometric projection :
o Y
ISOMETRIC PROJECTIONM
(1) Pentagonal face of pentagonal pyramid is parallel to H.P.
(2) One of the rectangular faces of pentagonal prism is parallel to V.P.
(3) One of the rectangular faces of pentagonal prism is perpendicular to V.P.
(4) Pentagonal faces of pentagonal prism are perpendicular to FHL.P.
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 1.00

1020 1020
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Choose the correct statement for the isometric projection of the given figure :

ISOMETRIC PROJECTION

Axis of the cylinder is perpendicular to H.P.

Axis of the cylinder is perpendicular to V.P.

Axis of the eylinder is parallel to both H.P, and V.P.

Axis of the cylinder is parallel to V.P. and perpendicular to H.P.

e —

Sy
e e S0 FA

Al:1
A2:2
A3:3
A4:4

Objective Question

10211021 4.0/1.00

file:///D:/INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html 95/168



7/10/24, 7:35 PM 9_Live_NCET_BEN_801-1200.html

Choose the correct statement for the given figure :

e

/A

x}if‘# ; :. 'Ix\"&.% A
i - ~
& N
g:.-r’-' | <Lﬂ‘ =
ISOMETRIC PROJECTION

) Common axis of both solids is parallel to FLP.
) Common axis of both solids is perpendicular to V.P.
3) Common axis of both solids is perpendicular to H.P.
) Common axis of both solids is inclined at 30° angle with H.P.

Objective Question

10221022 4.0/1.00
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Total Isometric height of the given combination of solids is . (approximately)

(1) 88 mm
(2) 80 mm
(3) 70 mm
(4) 110 mm

Al:1
A2:2
A3:3
A4 :4

Objective Question

10231023 4.0/1.00
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Choose the correct statement for the given figure :

)

(2)
(3)

4)

Al:1
A2:2
A3:3
Ad:4

Objective Question
1024/ 1024

ISOMETRIC PROJECTION

Axis of triangular prism is perpendicular to V.P, and axis of hemisphere is perpendicular to
H.P.

Axis of both solids are perpendicular to H.P.

Axis of hemisphere is perpendicular to H.P. and axis of triangular prism is parallel to both
HP. and V.P.

Axis of hemisphere is perpendicular to V.P. and axis of triangular prism is parallel to V.P.

The approximate height/thickness of the head of the square headed bolt is if “d’ is the
nominal diameter of bolt.

L)
2
)
(4)

Al:1

A2:2

d
1.5d
0.8d
2d
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A3:3
Ad:4

Objective Question

10251025 4.0/1.00
Choose the correct statement related to ‘chamfering’ done in a nut :
(1) Chamfering is done at an angle of 30° with the base of nut
(2) Chamfering makes a hole on top surface of nut
(3) Chamfering is done to increase sharpness of corners
(4) Chamfering is done to provide smooth surface for plain washer
Al:1
A2:2
A3:3
A4:4
Objective Question
10261026 4.0/1.00
In Metric screw thread (External), while drawing Crest and Root,
(1) both crest and root are drawn round
(2) Dboth crest and root are drawn flat
(3) crest is made flat and root is made round
(4) crest is made round and root is made flat
Al:1
A2:2
A3:3
A4 -4
Objective Question
10271027 4.01.00
In conventicnal representation of internal V-threads, represents the crest in the side
view.
(1)  thick complete circle
(2) thin complete circle
(3) thin broken circle
(4) thick broken circle
Al:1
A2:2
A3:3
Ad:4
99/168
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Objective Question

1028//1028 4.0/1.00
A is a cylindrical piece of metal having threads at both ends.
(1) stud
(2) rivet
(3) Dbolt
(4) rod
Al:1
A2:2
A3:3
Ad:4
Objective Question
1029 1029 4.0 1.00
In top view of a vertical rivet, two complete circles are visible.
(1) snap head
(2) 60° CSK head
(3) flat head
(4) pan head
Al:1
A2:2
A3:3
Ad:4
Objective Question
1030 1030 4.0 1.00
Bearing is used for Linear and Zigzag shaft.
(1) Collared
(2) Bush
(3) Open
(4) Roller
Al:1
A2:2
A3:3
Ad:4
Objective Question
10311031 4.01.00
100/168
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The purpose of counter-sunk hole in a Bush bearing is
(1) to pour oil for reducing the friction
(2) to provide clearance
(3) tojoin the bush to the base
(4) to increase the speed of shaft
Al:1
A2:2
A3:3

Ad 4

Objective Question

10321032 4.0 1.00
It is a wedge shaped piece of mild steel block which is uniform in thickness but tapered in width.
(1) Cotter
(2) Rod
(3) Sleeve
(4) Strap
Al:1
A2:2
A3:3
Ad:4
Objective Question
1033/ 1033 4.01.00
The cotters are automatically due to extra margin given for the clearance in the rod
and the sleeve, in a sleeve and cotter joint.
(1) enlarged
(2) tapered
(3) adjusted
(4) elongated
Al:1
A2:2
A3:3
A4 :4
Objective Question
1034/ 1034 4.01.00
101/168
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Gib is always provided in conjunction with
(1) flange

(2) Dolt

(3) cotter

(4) rivet

Al:1
A2:2
A3:3
Ad 4

Objective Question

10351035
The two rods used in Turnbuckle have thread.

(1) opposite handed external
(2) opposite handed internal
(3) Dboth right handed external
(4) both right handed internal

4.0 1.00

Al:1
A2:2
A3:3
A4:4

Objective Question

10361036
A gasket in a ﬂa_nge pipe joint is provided between the two flanges to

(1) support the bolts and nuts

(2) align the two flanges

(3) create the gap clearance between two flanges
(4) make a leakproof joint

4.0/ 1.00

Al:1
A2:2
A3:3
A4 :4

Objective Question

10371037 4.0/1.00
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Choose correct statements while drawing B.S.W. thread profile with [PICH="P"].
(A) Angle between flanks is 55°

(B) Vertical centre lines are separated by distance of P/4.
(C) Both crest and root are round.

(D) Crestis round but root is flat.

(E) Crestis flat and root is round.

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (B) and (D) Only

(3) (C) and (D) Only

4) (D) and (E) Only

Al:1
A2:2
A3:3
A4:4

Objective Question
10381038 4.01.00

ISOMETRIC PﬂﬂJECTIGN

Select the correct statements for the given isometric projection :
(A) Al triangular faces are parallel to H.P.

(B)  All rectangular faces of prism are parallel to H.P.

(C) All rectangular faces of prism are perpendicular to H.P.
(D) All triangular faces are parallel to V.P.

(E) One of the rectangular face of prism is parallel to H.P.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (D) and (C) Only

(3)  (A) and (E) Only

(4) (D) and (E) Only

Al:1
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A2:2

A3:3

A4 :4

Objective Question
1039 1039 4.0 1.00

ISOMETRIC PROJECTION

Choose the correct statements for the given isometric projection :

(A) One base side of the pentagonal pyramid is parallel to V.P. and nearer to the observer.
(B) Axis of hexagonal pyramid is parallel to V.P. and perpendicular to H.P.

(C) One base side of pentagonal prism is parallel to V.P. and perpendicular to H.P.
(D) Axis of pentagonal pyramid is parallel to V.P. and perpendicular to H.P.

(E) Inverted pentagonal pyramid is resting on its apex on H.P.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only

Al:1
A2:2
A3:3
Ad 4

Objective Question
1040 1040 4.0/1.00
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Choose the correct statements for ‘Open Bearing’ :

(A) This Bearing is used at the ends or near the ends of the shafts.
(B) This Bearing is useful for shafts rotating at slow speed.
(C) Oil hole is used to reduce friction in open bearing,.

(D) It has U-shaped cellared bush.

(E) Holes for bolts in bush are elongated towards height
Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A) and (B) Only

(3) (C) and (D) Only

4) (D) and (E) Only

Al:1
A2:2
A3:3
A4:4

Objective Question

10411041 4.0/1.00

Match List - I with List - IL.

™

List - I List - IT
(A) Axis of pentagonal prism ()  Perpendicular to both H.P. and V.P.
(B) Axis of circular slab (I) Parallel to H.P.
(C) Circular face of circular slab (III) Parallel to both H.P and V.P.
(D) Pentagonal face of prism (IV) Perpendicular to H.P.

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(11), (C)-(1V), (D)-(D)
(2) (A)-(Im), (B)-(ID), (C)-(I), (D)-(IV)
(3) (A, (B)A(IV), (O)-(1D), (D)-(I)
(4)  (AIV), (B)~(LID), (O)-(1), (D)-(I)

e vt et

Al:1
A2:2
A3:3
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A4 4

Objective Question

10421042

Match List - I with List - IL.

List - I List - II
Rivets Standard dimensions (Rivet diameter="d’)
(A) External head diameter of pan head rivet () 0.25d
(B) Head diameter of flat head rivet (I 0.7d
(C) Thickness of head of pan head rivet @ 2d
(D) Head thickness of flat head rivet (IV) 1.6d

Choose the correct answer from the options given below :
(1) (A)(D), (B}-(I), (CO)-(III), (D)-AV)
(2)  (A)-(ID), (B)-(IV), (C)-(I1I), (D)-(T)
(3) (A, (B)-(1), (O(IV), (D)-(I)
(4)  (AIV), (B)(II), (C)-(11), (D)-(I)

Al:1
A2:2
A3:3

Ad:4

Objective Question

10431043

Match List - I with List - I
List - I List - 11
Name of parts Description
(A) Sleeve (I)  One end acts as a fork
(B) Cotter (II)  Acts like a socket
(C) Gib (III) Acts like a temporary fastener
(D) Strap (IV) Acts like a hook
Choose the correct answer from the options given below :
M) (A, (B)-(W), (©Q)-(), (D)-(1V)
@) (AHIV), (B, (O-(ID), (D)-)
3) (A1, (B, ()-AV), (D)-(1)
(#)  (A)-(m), B)-(D), (C-(IV), (D)-(ID)
Al:1
A2:2
A3:3
Ad:4

Objective Question

10441044
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Match List - I with List - II for Flange Pipe Joint

List - I List - II
(A) Flanged pipe (I)  Mostly used for low pressure applications
(B) Circular ring/gasket (I) Cast Iron, Plastic, Wrought Iron, Steel

(C) CL pipes of larger diameter (II) When Pressure is high
not less than 50 mm

(D) Thickness of pipes is increased  (IV) Indian rubber, Canvas etc. coated with red lead
for short length in steps

Choose the correct answer from the options given below :

(1) (A, (B)-(1), (O-1V), (D)-(I)

(2)  (A)-(HD), (B)-(IV), (O)-(1), (D)-(1D)

(3) (A1), (B)-AV), (O)-(1), (D)-(L)

4 (AHIV), (B, (C)-II), (D)~

Al:1
A2:2
A3:3
Ad:4

Objective Question

1045|1045
ldenﬁ_fy the stage of creativity process in which an entrepreneur comes out with viable plan to

give practical shape by collecting raw material, arranging funds, policy making for the
implementation of idea :

(1) Incubation

(2) Verification

(3) Mumination

(4) Preparation

Al:1
A2:2
A3:3
A4:4

Objective Question
10461046
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Arrange the fU].lOwi_ng stock exchanges according to their year of establishment in a chronological

order
(A) Madras
(B) Delhi

(C) Bangalore

(D) Bombay

(E) OTC exchange of India

Choose the correct answer from the options given below :
(1) (A), (B), (©), (D), (E)

(2) (D), (A), (B), (C), (E)

3 B), (D), (A), (O), (E)

#@)  (©), (D) (A), (B), (B)

Al:1
A2:2
A3:3
Ad 4

Objective Question

1047 1047 4.0 1.00
“Two heads being better than one”.
2]

Identify the form of organisation which is based upon above statement :
(1) Sole Proprietorship

(2) Partnership

(3) Public Company

(4) Government Company

Al:1

A2:2

A3:3

Ad 4

Objective Question
10481048 4.0/1.00
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Match List - I with List - I1.

List - I

(Concept)
(A) Budget (1)
(B) Fixed Assets (ID)
(C) Gross Working Capital (L)
(D) Net Working Capital (IV)

9_Live_NCET_BEN_801-1200.html

List - II

(Feature)

Money invested on these items does not result in direct
cash inflow for the business

Current Capital

Current Assets — Current Liabilities

A quantitative expression of a plan for a defined period of
Hime

Choose the correct answer from the options given below :

(1) (A0, (By(IL), (C)-(I1), (D)-{IV)

2 (AHIV), (B(1D), (O)-(), (D)-()

(3) (A1, (B)-I), (COH(IM), (D)-{IV)
)

(4)  (A)(IV), (B)(D), (C)-(II), (D)-(IID)
Al:l
A2:2
A3:3
A4:4

Objective Question
1049 1049

Merger of Company X Ltd. with Y Ltd. made the retailer network and depositor base of Y Ltd.
available to X Lid. [denl'ify the reason for merger between X Ltd. and Y Ltd. on the basis of above

information.

(1) Access to funds

(2) Acquiring a competency
(3) Entry into new markets
(4) Improved profitability

Al:1

A3:3
A4 :4

Objective Question
1050 1050
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Match List - I with List - I1.

List - I List - II
(A) HNlumination () Seeding stage
(B) Preparation (II)  Viable plan
(C) Incubation (III) Market research
(D) Idea germination (IV) Subconscious assimilation of information

Choose the correct answer from the options given below :
(1) (A, (B-(IL), (C)-(I1L), (D)-(IV)
(2 (A1, (B)-(1I), (©)-IV), (D)-{)
(3)  (AHLV), (B)-(IIL), (O)(ID), (D)-(©)
(4)  (A)-(I), (B)-(11), (C)-(IV), (D)-(I)

Al:1
A2:2
A3:3
A4:4

Objective Question

10511051 4.0 1.00
Human Resources is of paramount importance for the success of any organisation, manpower

planning helps to assess, what kind of people are required, how many people are required and
how to procure these required people ? Procurement of “Right person, at right job, at right time”
is the objective of :

(1) Operational Plan

(2) Human Resource Plan

(3) Production Plan

(4) SWOT Analysis

Al:1
A2:2

A3:3

Objective Question

1052 1052 4.0 1.00
Match List - I with List - IL
List - I List- I
(A) Individual brand name (I)  Godrej
(B) Family brand name (I} SX4
(C) Corporate brand name (II) Lux
(D) Alpha numeric brand name (IV) Maggi

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(IV), (O)-(I), (D)-(IT)
(2 (A)-IV), (B)-(1I), (C)-(1D), (D)-(0)
(3) (A1), (B}-(II), (CO)-(I11), (D)-(IV)
(4) (A1), (B)-(1V), (O)-(ID), (D)-[0)
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Al:1

A2:2

A3:3

A4:4

Objective Question
10531053

Identify the method of floatation of new issue which involves the direct sale by a company of its

securities to a limited number of sophisticated investors.

(1) Rightissue

(2) Private placement
(3) Offer to employees
(4) Going public

Al:1
A2:2
A3:3
A4:4

Objective Question

10541054
Match List - I with List - IL.
List - I
(A) Issue of more share capital (I)
(B) Franchising, merger, acquisition (I1)
(C) Business Format (110
(D) Conglomerate (IV)

List - 11

A type of franchising

A type of merger

Source of internal expansion

Forms of external expansion

Choose the correct answer from the options given below :

(1) (A, (B)-(IV), (O)1), (D)-(IT)
(2)  (A)-(I), (B)-(IV), (O)(II), (D)-(I)
(3)  (AIV), (B)-(IID), (O)(I), (D)-(IT)
(4)  (A)-IV), (B)-(LIL), (C)-(1T), (D)-(D)
Al:1
A2:2
A3:3

A4 4

Objective Question
1055/ 1055
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Ms. Priyvadarshini started her coaching institute to teach Konkanilanguage. She named her institute

“The Konkani Platform” and made a symbol ®- for easy identification by viewers. The name of
institute is short, simple and easy to pronounce and the symbol is noticeable, easy to recognise and
remember and also linked to the service provided by the institute. After two months of startup, this
has given legal protection.

Identify the component of product mix explained in above case :

(1) Branding

(2) Labelling

(3) Packaging

(4) Marketing

Al:1
A2:2
A3:3
Ad:4

Objective Question

1056/ 1056 4.01.00
Match List - I with List - IL
List- 1 List - 11
(sources of sensing an opportunity) (basic idea)
(A) Problems () New products/services leads to new business opportunities
(B) Change (I) Add value to existing products/services
(C) Inventions (Il1) Leads to new opportunities to start a business
(D) Innovation (IV) It emerges as a business opportunity
Choose the correct answer from the options given below :
(1) (AHIV), (B)-(), (O, (D)-{)
@ (AMIV), (BI-(I), (O, (D))
() (A)IV), (B)1), (C)-(II), (D)-(1T)
(4)  (A)(D, (BRI, (C-D), (D)-(IV)
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.01.00

1057//1057
“This part of a brand which can be vocalized” Identi_fy the component of brand discussed.

(1) Trade mark
(2) Brand name
(3) Brand mark
(4) Brand label

Al:1

A2:2
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A3:3

A4 :4

Objective Question

10581058

9_Live_NCET_BEN_801-1200.html

Why private company is more desirable ? [dentify the correct option.

(A) Only two members required to form this entity
(B) Implied authority to act on behalf of others

(C) Utmost good faith on each other for any decision

(D) Can commence its business immediately after incorporation

(E) Mutual agency to complete the given task

Choose the correct answer from the options given below :

(1) (A) and (D) Only
() (B), (C) and (E) Only
(3) (A), (B) and (C) Only
(4) (B). (©) and (D) Only

Al:1

A3:3

Ad:4

Objective Question

1059 1059

Annual quantlty of jeans sold by a shop is 1200 at the rate of ¥ 100 per month. Cost of placing an
order and receiving goods is I 5[][}/- per order. Inventory holding cost is ¥ 30/- per annum. What

is the Economic Order Quantity for the shopkeeper ?

(1) 150 jeans
(2) 250 jeans
(3) 100 jeans
(4) 200 jeans
Al:1
A2:2

A3:3

Ad 4

Objective Question

10601060
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Arrange the following elements of Merger and Acquisition in a proper sequence.
(A) Due Diligence

(B) Drawing up documentation

(C) Generating ideas

(D) Valuing companies

(E) Identifying potential partner

Choose the correct answer from the options given below :
(1) (A, (B), (©), (D), (B)

(2 (B, (D) (©), (B), (A)

(3)  (©), (D), (B), (B), (A)

(4) (B). (C) (D), (E), (A)

Al:1
A2:2
A3:3
A4:4

Objective Question
1061|1061
Rupapshi started a bakery for manufacturing healthy bakery items. She invested ¥ 1,00,000 of her

own. She formulated a detailed plan describing planning details that are needed by management.
Identify the format of a business plan prepared by Rupapshi.

(1) Elevator pitch

(2) A pitch deck with oral narrative

(3) A written presentation for external stakeholders

(4) An internal operational plan

Al:1
A2:2
A3:3
Ad:4

Objective Question

1062(/1062
Arrange the followi_ng steps of Innovation process in proper order.

(A)  Applying the resources in order to accomplish the plans

(B) Provision of value to customers, reward employees and satisfy the stakeholders
(C) Carefully identify the features, design, resources required for product/ service
(D) Obtaining of resources, physical, human and financial resources

Choose the correct answer from the options given below :

(1) (©, (D), (A) (B)

(2 (©) (A) (D), (B)

(3) (&), (B),(C), (D)

(4) (DO (©.(B), (A)

Al:1
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A2:2

A3:3

A4 :4

Objective Question

10631063

Identify the source of finance which involves affluent individual who provide capital for a business
start up and early stage companies.

(1) Venture capitalist

(2) Financial institution

(3)  Angel investors
(4) Banks

Al:1
A2:2
A3:3

A4 :4

Objective Question

10641064

Arrange the following activities to be performed in operating cycle of trading business in proper

sequence.

(A) Stocks of good
(B) Cash paid

(C) Debtors

(D) Sales

9_Live_NCET_BEN_801-1200.html

Choose the correct answer from the options given below :

(1) ®),(A), (D), ©
2 @A) D) (©) (B
(3) (A (B), (O), (D)
4 ), (D) (©), (&)
Al:1
A2:2

A3:3

A4 :4

Objective Question

1065/ 1065
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Arrange the steps for preparing marketing plan in proper sequence,

(A)
(B)
(©)
(D)
(E)

Identify the target market

Implementation and moenitoring of the plan
Business situation analysis

Defining marketing strategy

Conduct SWOT and Establish goals

Choose the correct answer from the options given below :

(1)
2
()
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
10661066

Identify the type of franchise in which a company provides a business owner with a proven method

(A), (B), (B), (©), (D)
D), (E), (), (B), (A)
©), (A), (B), (D), (B)
©), (A), (B), (B), (D)

for operating a business using the name and trademark of the company.

(1)
(2)
@)
(4)
Al:1
A2:2
A3:3

Ad 4

Objective Question
10671067

Product franchise business opportunity
Manufacturing franchise opportunity
Business franchise opportunity
Business format franchise opportunity

The factors which affect micro business environment are :

(A)
(B)
(©
(D)
(E)

Suppliers

Life style changes
Customers
General public
Competitors

Choose the correct answer from the options given below :

(L
@)
(3)
4)

Al:1

(A), (C) and (D) Only
(B), (C) and (D) Only

(A), (C), (D) and (E) Only
(B), (C) and (E) Only

file:///D:/INCET QP/ZIP/9_Live_NCET_BEN/9_Live_NCET_BEN_801-1200.html

4.01.00

4.01.00

116/168



7/10/24, 7:35 PM 9_Live_NCET_BEN_801-1200.htm|
A2:2
A3:3
Ad:4

Objective Question

1068 1068 4.01.00
Mr. S. Chopra spent ¥ 5,00,000/- to open a play area for children of age group of 3-10 years and
make a net profit of ¥ 20,000 in one year. Annual return on investment for this play area is :
(1) 4%
(2) 40%
3 2%
(4) 20%

Al:1
A2:2
A3:3
Ad:4

Objective Question

1069 1069 4.0 1.00
A franchise agreement is the legal document that binds franchisor and franchisee together. Identify

from the following, the main ingredients of franchise agreement.
(A) Contract explanation

(B) Operational manual

(C) Product acceptance

(D) Ongoing site maintenance

(E) Proprietory statement

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (B), (D) and (E) Only

(3) (A), (B), (C) and (E) Only

) (B), ©, (D) and (E) Only

Al:1
A2:2
A3:3
A4 :4

Objective Question
10701070 4.0/1.00
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Which of the following statement is not true for “FUNDING”, as venture capitalists who are
typically very selective in deciding what to invest in :

(1)
(2)
©)
(4)
Al:1
A2:2
A3:3

Ad 4

Objective Question
10711071

Looks for extremely rare, yet sought after qualities

They may invest is one in four hundred opportunities

Looks for “exit” in the time 3-7 years

They fill the gap in startup financing between friends and family

Items used directly in calculation of Return on Investment (ROI) are :

(A)
(B)
(©
(D)
(E)

Debtors

Net profit
Owners funds
Borrowed funds

Inventory

Choose the correct answer from the options given below :

(1)
2
3)
(4)
Al:1
A2:2
A3:3

Ad 4

Objective Question
10721072

Below the line methods are very specific memorable activities focused on targeted groups of
customers. Ident‘ify which of the following promotional tools are used under below the line method

(A) and (E) Only
(B) and (C) Only
(B), (C) and (D) Only
(A) and (D) Only

of promotion.

(&)
(B)
(©
(D)
(E)

Sponsorship

Personal selling

Television and cinema advertising
Sales promotions

Print advertising

Choose the correct answer from the options given below :

(L
2)
()
4)

(C) and (E) Only

(A), (B) and (C) Only
(A), (B) and (E) Only
(A), (B) and (D) Only
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Al:1
A2:2
A3:3
Ad:4

Objective Question

1073//1073 4.0 1.00
‘Nainsukh” was a painter of Kangra sub school of paintings, which among the following is his

work :

(1) Kabir and Raidas

(2) Krishna with Gopis

(3) Nand, Yashoda and Krishna with kinsmen going to Vrindavan.
(4) Nayaka and Nayika

Al:1
A2:2
A3:3
Ad 4

Objective Question

1074|1074 4.0 1.00
Nigaar Khana (pai_nting workshop) was part of a library, founded by which of the following
Mughal ruler ?

(1) Akbar
(2) Humayun
(3) Babur

(4) Aurangzeb
Al:1
A2:2
A3:3
Ad -4

Objective Question

10751075 4.01.00
The family of which of the following artist worked at many cenires and are responsible for developing

finest examples of Pahari paintings ?

(1) Miskin
(2) Mir Syed Ali
(3) Guman

(4) Nainsukh

Al:1
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A2:2

A3:3

A4 :4

Objective Question
1076 1076

9_Live_NCET_BEN_801-1200.html

Which one is the characteristic feature of Western Indian Miniature painting ?

(1)
(2)
(3)
(4)
Al:1
A2:2
A3:3

A4:4

Objective Question
1077 1077

Who coined the term ‘Rajput Paintings’ to categorize and differentiate this group from Mughal

Use of pastels and dull colours

Deep interest in depiction of ornaments

Concept of “Further eye to show three dimensionality of the face’.
Depiction of themes related to Buddha.

School of Painting ?

(1)
(2)
3)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
10781078

The painting ‘Raga Dipak’ of Chunar Ragmala belongs to which sub-school of Rajasthani School

G.R. Santosh

Anand Coomaraswamy
Rabindranath Tagore
B.N. Goswamy

of Painting ?

(L)
()
©)
4)

Al:1

A2:2

A3:3

Bundi School
Mewar School
Kota School
Jodhpur School
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A4 4

Objective Question

1079//1079 . 4.0 1.00
The artist, who was influenced by the folk paintings of Kalighat, Bengal ?
(1) Abanindranath Tagore
(2) Jamini Roy
(3) Amurita Sher-Gil
(4) ML.F. Husain
Al:1
A2:2
A3:3
Ad 4
Objective Question
1080//1080 4.0 1.00
Who is the artist of painting ‘Journey’s End’ ?
(1) Abanindranath Tagore
(2) Nandalal Bose
(3) Rabindranath Tagore
(4) Amrita Sher-Gil
Al:1
A2:2
A3:3
Ad:4
Objective Question
1081 1081 4.0 1.00
Who is the painter of ‘Rama meets members of his family at Chitrakut” ?
(1) Nihal Chand
(2) Guman
(3) Nainsukh
(4) Sahibdin
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.01.00

1082 1082
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Who was the founder of ‘Calcutta Group’ in 1943 ?
(1) Prodosh Das Gupta

(2) MLF. Husain

(3) H.A. Gade

(4) S.H. Raza

Al:1
A2:2
A3:3
Ad 4

Objective Question

10831083 4.0 1.00

‘Krishna Embracing Gopis’ miniature painting from Gita-Govinda is related to which sub-school
of Pahari school of miniature painting ?

(1) Kangra

(2) Bundi

(3) Guler

(4) Basohli

Al:1

A3:3
Ad:4

Objective Question

1084 1084 4.0/1.00

Who was the artist, avoided traditional medium of sculpturing like marble, wood or stone and
preferred cement for creating his sculpture that speaks of a family migrating from one region to
another, carrying all their frugal possessions ?

(1) Debi Prasad Roy Chowdhury

(2) Ramkinker Baij

(3) Amarnath Sahgal

(4) P.V. Janakiram

Al:1
A2:2
A3:3
Ad 4

Objective Question

1085/ 1085 4.0/1.00
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Name the artist who was responsible for the spread of Indian Art to South India ?
(1) Benoy Sarkar

(2) Jamini Roy

(3) Amrita Sher-Gil

(4) K. Venkatappa

Al:1
A2:2
A3:3
Ad 4

Objective Question

1086|1086 4.0 1.00
Which of the following painting is made by Abanindranath Tagore ?
(1) Women with Child
(2) Journey’'s End
(3) Cily in the Night
(4) Tiller of the Seil
Al:1
A2:2
A3:3
Ad:4
Objective Question
1087/ 1087 4.01.00
Who among the following was a British Administrator and Principal of the Calcutta School of
Art?
(1) Rabindranath Tagore
(2) Nandalal Bose
(3) M.A. R. Chughtai
(4) E.B. Havell
Al:1
A2:2
A3:3
A4 :4
Objective Question
4.01.00

1088 1088
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Company painting is a combination of traditional style with which of the following ?
(1) Persian Style

(2) European Style

(3) Mughal Style

(4) Rajput Style

Al:1
A2:2
A3:3
Ad 4

Objective Question

1089 1089 4.0 1.00

Paint brushes for Rajasthani painting were made using the hairs from the tails of which of the
following animals ?

(1) Camel and Cat

(2) Camel and Squirrel

(3) Camel and Hog

(4) Camel and Dog

Al:1
A2:2
A3:3
A4:4

Objective Question

10901090
Famous poem ‘Gita Govinda’ was written by which poet that became an integral theme for

Rajasthani School ?
(1) Javadeva

(2) Rahim

(3) Madhe Das
(4) Ashwin

4.0/1.00

Al:1
A2:2
A3:3
Ad:4

Objective Question

10911091 4.0/1.00
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In which of the following school of miniature painting, the painting of Shrinathji (Krishna as
Shrinathji) was made ?

(1) Mughal

(2) Deccan

(3) Rajasthani

(4) Pahari

Al:1
A2:2
A3:3
Ad 4

Objective Question

1092 1092 4.0 1.00
Arrange the following artists in chronelogical order from earliest to latest :
(A) Dana
(B) Mansur
(C) Miskin
(D) Mir Sayyid Ali
(E) Bihzad

Choose the correct answer from the options given below :
(1) (©), (D), (E), (A), (B)
(2 (A) (B), (Q), D) (E)
(3) (D), (C), (B), (A), (E)
(4) (B). (D), (O, (B), (A)

Al:1
A2:2
A3:3
Ad 4

Objective Question

1093//1093 4.0/1.00
Arrange the following steps in sequence followed in the making a Mughal Miniature paintings :

(A) Master artist makes the finishing touches.

(B) Outline is sketched with black and brown colour.

(C) Thin sheets of handmade paper are glued together.

(D) The painting is burnished with an agate.

(E) Filling of colour pigment and applying precious metals like gold and silver.
Choose the correct answer from the options given below :

(D) (B, (©) (D), (A) (E)

2 (A (B), (D), (©) (B)

@) (B, Q) (D), (B), (A)

@) © (B) (E) (D), (4)

Al:1
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A2:2
A3:3
Ad:4

Objective Question

1094 1094
Arrange the following paintings in chronological order from the earliest to latest :

(A) Chand Bibi Playing Polo (Chaugan), Golconda.

(B) Woman with Child, Jamini Roy.

(C) Chaurpanchasika, Mewar.

(D) Triumph of Labour, D.P. Roy Chowdhury.

(E)  Whirlpool, Krishna Reddy.

Choose the correct answer from the options given below :
(1) (&), (D), ©), (B) (B)

@ (©,(A), @), D) B

@) @A) (B), (©), D), (E)

@) (B), (O (D). (A) (E)

Al:1
A2:2
A3:3
A4 :4

Objective Question

10951095
Identify the artists among the following who made the ‘Progressive Artists Group’ at Bombay

(Mumbai) under the leadership of Francis Newton Souza.
(A) ML.F. Husain , S.A. Bakre

(B) KH. Ara, HA. Gade

(C) S.H. Raza

(D) Ram Kumar, Satish Gujral

(E) G.R. Santosh

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A), (D) and (E) only

(3) (A), (B) and (E) only

(4) (B), (D) and (C) only

Al:1
A2:2
A3:3

A4:4
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Objective Question

1096/ 1096

Choose the correct themes which delineated in different schools of Pahari Painting :

(A) Baramasa

(B) Shangri Ramayana
(C) Fairy Tales

(D) European Art themes
(E) Bhagvata Purana

Choose the correct answer from the options given below :

(1) (A), (C) and (D) only
(2) (B) and (C) only

(3) (A), (B) and (E) only
(4) (A) and (B) only
Al:1

A2:2

A3:3

Ad 4

Objective Question

1097 1097

Identify the artist and the title of the painting.

(A) Farmer with Cow
(B) Nandalal Bose
(C) Jamini Roy

(D) Farmer in Village
(E) Tiller of the Soil

Choose the correct answer from the options given below :

(1)  (B) and (A) only
(2) (C) and (D) only
(3)  (B) and (E) only
(4) (C) and (E) only

Al:1
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A2:2

A3:3

A4 :4

Objective Question

10981098 4.01.00
Match List - I with List - IL.
List - I List - I
(A) Kshitindranath Majumdar (I) Dhaki
(B) M.A.R. Chughtai (I) Raslila
(C) Nandalal Bose (Ill) City in the Night
(D) Gaganendranath Tagore (IV) Radhika

Choose the correct answer from the options given below :
(1) (A)D), (B)-(L), (C)-(II1), (D)-(IV)

(2) (A1), (B)-(D, (O-1V), (D)-()

(3) (A, (B)-(11), (©)-(1), (D)-(IV)

4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(III)

Al:1

A2:2

A3:3

A4 :4

Objective Question

1099/ 1099 4.0/1.00
Match List - I with List - IL
List - I List - II
(A) Children (I) Krishna Reddy
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